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Mark Baker and Ken Safir, Rutgers University
LANGUAGE: Basaa (basad), Bantu A43.
LANGUAGE CONSULTANT: Paul Roger Bassong
This questionnaire (which we will call the CCQ) is designed to explore the relationship between
predicates and the clausal arguments they are compatible with. For example, the verbs want, demand,
hope and believe select different sorts of complements.
X1a) John wants to eat fish
Ok Yohanes angwés dzé t[5pi
Yohanes a- n- gwés dzé t[5pi
John.cl SM.c1-PRS-want eat fish.c12
‘John wants to eat fish’
b)*?John wants that Mary eat fish
Ok Yohanes angwés 1¢ Marija adzé tfopi
Yohanes a- n- gwéslé Marija 4- dzé tfopi
John.cl SM.CI1-PRS-want that Mary.cl SM.c1.SBJV-eat fish.12
“*John wants that Mary eat fish’
¢)*John wants that Mary eats fish
* Yohanes afgwés 1¢ Marija and3¢ t[5pi
Yohanes a- n- gwéslé Marija a- n-dzé¢ t[5pi
John.cl SM.CI1-PRS-want that Mary.cl SM.1-PRS-eat fish.12
‘*John wants that Mary eats fish’
d) John wants for Mary to eat fish
* Yohanes afgwés inyuti Marija lidzé t/opi
Yohénes a- - gwés injui Marija li-d3é tfopi
John.cl SM.cl1-PRS-want for Mary.cl INF.c5-eat fish.12
Lit: ‘John wants for Mary to eat fish’
Comments: Note that as compared to sentence (X1b), sentence (X1c¢) is ungrammatical because the
desiderative predicate gwés ‘want’ is incompatible with the indicative. Given that the embedded verb d3é
‘eat’ in (X1c) is inflected for present as shown by the presence of the nasal -7, the sentence becomes illicit.
On the contrary, (X1b) is fine because the embedded verb dz¢ ‘eat’is in the subjunctive form as shown by
the presence of the high tone on the subject marker ¢- (as compared to a- in X1c).
X2a) John demanded to eat fish
OkYohanes abibat 1id3€ tfopi
Yohanes a- bi- bat li- dzé tfopi
John.cl SM.cl-PST2-demand/ask INF.c5-eat fish.12
‘John demanded to eat fish’
b) John demanded that Mary eat fish
Ok Yohanes abibat 1¢ Marija adz¢ tfopi
Yohanes a- bi- bat l¢ Marija a- dze tfopi
John.cl SM.cl-PST2-demand/ask that Mary.cl SM.c1.SBJV-ecat fish.12
‘John demanded that Mary eat fish’
c)*John demanded that Mary eats fish
* Yohanes abibat 1¢ Marija and3¢é tfopi
Yohanes a- bi- bat l¢ Marija a- n- dzé¢ tfopi
John.cl SM.cl-PST2-demand/ask that Mary.cl SM.c1-PRS-eat fish.12
“*John demanded that Mary eats fish’
d)?John demanded for Mary to eat fish
Comment: Comments on the main predicate in (x1b-c) also apply to (x2b-c) above on the selection of the
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clause type.
* Yohanes abibat injutl Marija 1id3¢ t/opi
Yohanes a- bi-  bat injud Marjja  1i- d3z¢  tfopi
John.cl SM.cl-PST2-demand/ask for Mary.cl INF.c5-eat fish.12
“?John demanded for Mary to eat fish’
X3a) John hopes to eat fish
Ok Yohanes ambtném lid3é€ tfopi
Yohanes a- m-  B63tném li- dzé tfoBi
John.cl SM.c1-PRS-hope INF.c5-eat fish.c12
‘John hopes to eat fish’
b)*John hopes that Mary eat fish
*Yohanes armbstném 1¢ Marija adzé t/opi *Subjunctive
Yohanes a- m- bBotpém l¢ Marija a- dzé tfopi
John.cl SM.c1-PRS-hope that Mary.cl SM.c1.SBJV-eat fish.c12
“*John hopes that Mary eat fish’
c) John hopes that Mary eats fish
Ok Yohanes ambdtném 1¢ Marija andzé t[opi
Yohanes a- m- B5tném l¢ Marija a- n-  dzé tfopi
John.cl SM.c1-PRS-hope that Mary.cl SM.c1-PRS-eat fish.12
‘John hopes that Mary eats fish’
d) John hopes for Mary to eat fish
Yohanes ambtném injut Marija lid3€ tfopi (see translations)
Yohanes a- m- B65tném injutl Marjja  li- dzé tfopi
John.cl SM.c1-PRS-hope for Mary.cl INF.c5-cat fish.12
‘John hopes for Mary to eat fish’/‘John hopes that thanks to Mary he will eat fish’
X4a)*John believed to eat fish.

OkYohanes abihdndl lidzé tfopi
Yohanes a- bi-han51 li-dzé tfopi
John.cl SM.c1-PST2-remember INF.c5-eat fish.12
‘John remembered to eat fish’
Comment: The verb -4575l is associated with different meanings in English. It can mean ‘believe’, ‘think’
or ‘remember’. In the context of (X4a), it means ‘John remembered eating to eat fish (he had that in
mind)’.Last sentence unclear — is ‘he remembered eating fish’ a possible translation for X4a? Like in
English, the meaning ‘*John believed to eat fish’ is not possible here’.
Note: Some might accept Since he believes to be eating fish, don’t tell him it’s tofu. The French
counterpart of this sentence is acceptable.
b)*John believes that Mary eat fish
*Yohanes anhdnsl 1¢ Marija adzé tfopi
Yohanes a- n- hdndl 1¢ Marija 4- dzé tfopi
John.cl SM.c1-PRS-believe that Mary.cl SM.c1.SBJV-eat fish.12
¢) John believes that Mary eats fish
Ok Yohanes anhdn3l 1¢ Marija andzé t/3p1
Yohénes a- n- hdndl 1¢ Marija a- n dzé tf5pi
John.cl SM.c1-PRS-believe that Mary.cl SM.c1-PRS-eat fish.12
‘John believes that Mary eats fish’
d)*John believes for Mary to eat fish
*Yohanes anhdndl injutt Marija lidzé tfoBi
Yohanes a- n- hdndl injud Marija li- dzé tfoPi
John.cl SM.cl-PRS-believe for =~ Mary.cl INF.c5-eat fish.12
“*John believes for Mary to eat fish’



The complement clauses illustrated in X1-4 are not all the ones that are possible in English, but even for
this small set, we can see that each of the verbs illustrated is acceptable only with a different subset of the
types of clausal complements.

Part 1A - Sentence translation

The task for all of Part 1 is to translate the elicitation sentence examples as best you can. Please be sure to
comment whenever a translation must be adjusted to accommodate the way it must be said in your
language.

Ala) The press has claimed that the president demanded an apology.
Ok bikééhéné binkal 1¢ nkéna abibat mwéhel
bikééhéne bi-  pn-  kal l¢  pkéna & bi  bat mwe¢ehel
court.c8 SM.cl-PST1-claim/say that leader.cl SM.c1-PST2-demand 9.apology
“The court has claimed that the leader demanded apology’
b) The secretary claimed to know the answer.
A1b’) *matila abikal 1iji ndimbhe

matila a- bi-  kal li- ji ndimbhe
secretary.cl SM.c1-PST2-claim  INF.c5-know answer.c7
A1b’’) matila a- bi-  kal li- ji ndimbhe

secretary.c1-SM.c1-PST2-say/claim INF.c5-know answer.c7

The secretary said (something, maybe she denounced a secret for instance) in order to know (something).
A1b”’”) Ok matila abikal 1¢ anji ndimbhe

matila; a- bi- kal 1¢ projai- n- ji  ndimbhe

secretary.cl SM.cl-PST2-claim that pro SM-cl-PRS-know answer.c7

‘The secretary claimed to know the answer’ Lit: ‘The secretary claimed that s/he knew the answer.’

Comment: Note that although sentences (A1b’) and (A1b’’) have the same internal organization, they do
not convey the same meaning. (A1b’) cannot be ruled in as a direct equivalent to the English (Alb)
sample sentence. Taken as such, it is ruled out. For instance, it cannot be a felicitous answer to a ‘what’s
new?’ question. However, the same sentence is true under (A1b’’) if it is a direct reply to a previously
mentioned question (e.g. what did the secretary said (delivered) in order for her to know the answer to
some specific question in the context. For instance, if we consider that the secretary knows something
about what happened some days ago, she could deliver the message in order to know what would happen
(e.g. the fallouts). Sentence (Alb’’”) is the normal equivalent to the English sample sentence (Alb)
although the former makes use of a declarative embedded as opposed to the later whereby the embedded
clause is infinitive.

¢) Spies claimed Bill to know the answer. (* or 7* in English)
Ok Ac’) dikokdn dibikal 1¢ mudaa anji ndimhe
dikokdn di-  bi- kal 1¢ mudaa @ a- n- ji ndimhe
spies.c12 SM.12-PST2-say that woman.cl SM.c1-PRS-know answer.c7
‘The spies claimed the woman to know the answer’. Lit; ‘The spies claimed that the woman knew the
answer.’
Ac’’) Ok dikokdn dibikdl mudaa 1iji  ndimhe

dikokdn di- bi- kal mudad  li- ji ndimhe
spies.c12 SM.c12-PST2-tell/inform woman.cl INF.c5-know answer.c7
‘The spies informed the woman in order to know the answer’

* ‘The spies claimed the woman to know the answer’
Comments: As can be seen above, only the embedded declarative (i.e. Ac’) corresponds to the English
embedded infinitive clause. The Basad embedded infinitive (Ac’’) rather conveys a different meaning.
A2a) The reporters say that the president will claim his rights.
OK batfamminan bankal 1¢ nkena agabat i ni i iyé iyéé
batfamminan 6a- - Kkal 1€ pkena a- ga-  bat i ni i



reporters.c2 SM.c2-PRS-say that president.c1-SM.c1-FUT2-claim/ask DEM CONN DEM
i- yé iyéé
SM.c9-be.PRS his.c9
‘The reporters say that the president will claim his rights.’
b) Orlando said to go to the store.
A2b’) Ok Tonj¢ abikal I¢ anke i safé
Tonjé  aj- bi- kall¢ pro; ai- - ke i safé
Tonjé.cl SM.c1-PST2-say that pro SM.c1-PRS-go LOC store/shop.c7
“Tonjé¢ said to go to the store.’
A2b’’) * Tonj¢ abikal like i sapé
Tonjéi  aj- bi-  kal li- ke i sape
Tonjé.cl SM.c1-PST2-say INF.c5-go LOC store/shop.c7
¢) Orlando said for us to go to the store.
*Tonjé¢  abikal injuu jés like 1 sapé
Tonj¢ a bi-  kal injua jés li- ke i sape
Tonjé.cl SM.c1-PST2-say for us INF.c5-go LOC store/shop.c7
d) Orlando said that we [should] go to the store.
A2d’) Ok Tonjé¢ abikal 1¢ di nlama ké isape
Tonj¢ a- bi- kal l¢ di n- lama ké i sapé
Tonjé.cl SM.c1-PST2-say that we PRS-should go LOC store/shop
‘Tonj¢ said that we should go to the store’
A2d’’) Ok Tonjé abikal 1¢ di ké€ i saPé
Tonj¢  a- bi- kal l¢ di ké-€ i sape
Tonjé.cl SM.c1-PST2-say that we.EMPH go-SBJV LOC store/shop
‘Tonj¢ said that we [should] go to the store’
Note: (A2d) is not acceptable in English without should).
A3a) The president confessed that he had seen the ceremony.
Ok pkena abinébé 1¢ abitéhé likoda
pkena; ai-  bi- néb¢ l¢ proja-  bi- téhé likoda
leader.cl SM.c1-PST2-confess/accept that pro SM.cl-PST2-see ceremony/gathering.c3
‘The leader confessed that he had seen the ceremony.’
b) The president admitted that he had heard the speech.
Ok pkena abinébé¢ 1¢ abindg nsebla
pkena; ai-  bi-  nébé l¢ proia-  bi- ndg nsebla
leader.cl SM.c1-PST2-confess/accept that pro SM.cl-PST2-hear call.c3
‘The leader confessed that he had heard the call’.
¢) We will say that Alice confessed her sins.
Ok di gakal 1¢ mudaa abinébé Bibépa gwéé
di ga- kil ¢ mudaa  a- bi- nébé PibéPa gwéé
we FUT2-say that woman.cl SM.c1-PST2-confess sins.c8 her.c8
‘We will say that the woman confessed her sins.’
A4a) The baboons believe that the rocks prevent predators from attacking the young.
Ok mbép inhdn?dl 1¢ maa mankén binuga bibé )
mbép i- - hdpdllé maa ma- 10- kép binuga bibé
hedghogs.c10 SM.c10-PRS-think that rocks.c6 SM.c6-PRS-prevent animals.c8 fierce.c8
i- suu  63n
INF.c5-attack younger ones.c2
[s the INF marker only i- here, or should this be /i-? If it is i-, is there any reason that this is the only verb
we have so far that does not take /i-infinitives? Is it a noun class difference?
‘The hedghogs believe that the rocks prevent fierce animals from attacking the younger ones’
b) The birds expect that the thorns will stop bigger birds from eating their young.
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A4b’) *dinuni dirhbem ¢ Bilod bigakén dinuni dikeni id3¢ 63n
dinuni  di- m- bem 1¢ Pilod bi- ga- kép dinuni  dikeni
birds.12 SM.c12-PRS-expect that thorns.c8 SM.c8-FUT2-stop/prevent birds.12 big.c12
i- dz¢é 63n
INF.c5-eat younger ones

A4b’’) Ok dinuni  dimbem 1¢ Bilod bikéy dinuni dikeni idzé 63n

dinuni  di- m- bem 1l¢ Bilbd  bi- kén dinuni  dikeni
birds.12 SM.c12-PRS-expect that thorns.c8 SM.c8.SBJV-stop/prevent birds.12 big.c12
i- dzé 63n

INF.c5-eat younger ones
Lit: ‘The birds expect that the thorns should stop the bigger birds from eating the younger ones.’
OR ‘The birds expect the thorns to stop bigger birds from eating their young’
Ab’”’) Ok dinuni  dimbem Bilod 1€ bikén dinuni dikeni id3¢ 63n

dinuni  di- m- bem  ilod; l¢  pro; bi- kén dinuni  dikeni
birds.12 SM.c12-PRS-expect thorns.c8 that pro SM.c8.SBJV-stop/prevent birds.12 big.c12
i- dzé 63n

INF.c5-eat younger ones
Comment: The ungrammaticality of (A4b’) above is due to the incompatibility attested between the main
verb bem ‘expect’ and the embedded tense which is ‘future’. In other words, the main verb requires a
subjunctive embedded form and not a tensed verb, hence the grammaticality of (A4b’’) and (A4b’”’).
‘The birds expect the thorns to stop bigger birds from eating their young’

c¢) The scientists consider snakes to be beneficial.
Ok A4c’) bajénmam banjon nds kikii jom mahéé
bajépmam  ba- nH- jon ndd kikii jom mahéé
researchers.c2 SM.c2-PRS-consider snakes.c10 as thing.c7 importance.c6
‘The scientists consider snakes to be beneficial/important’.
OR A4c’’) Ok bajénmam 6anhan3l 1€ nd3 i yé mahéé
bajépmam  B6a- - hdndl le ndd i yé mahéé
researchers.c2 SM.c2-PRS-consider/think that snakes.c10 SM.c10-be.PRS importance.c6
‘The scientists consider that snakes are beneficial/important’.

d) The dog suspects that the cat wants its toy.
A4d’) Ok ngw? inhdnsl 1¢ singi insombol tuyil yéé
ngwd  i- n-  hdnsl l¢ singi i- n- sombol tuydl yéé
dog.c9 SM.c9-PRS-think/suspect that cat.c9 SM.c9-PRS-want toy.c7 his.c7
‘The dog suspects/thinks that the cat wants its toys.’
A4d’’) Ok ngwd inhegda 1€ singi insomboal tayil yéé
ngwd i- - hegda l¢ singi i- n-  sombol tuyll yéé
dog.c9 SM.c9-PRS-guess/suspect that cat.c9 SM.c9-PRS-want toy.c7 his.c7
‘The dog is guessing/thinks that the cat wants its toys.’

¢) The boss understood that Bill was capable of doing the work.
Ade’) Ok nane abindy 1€ Ntdoge anla 651 nsdn

pane  a- bi-  ndy lé Ntdoge a- n- la 65y nsdn
boss.cl SM.c1-PST2-understand that Ntdoge.c1 SM.c1-PRS-can do work.c3
‘The boss understood that Ntdoge was capable of doing the work.” OR ‘The boos understood that Ntdoge
could do the work.’
Ade’”) Ok pane abitehe 1€ Ntdoge anla 651 nsdn
pnane  a- bi- téhél¢ Ntdoge a- n- la 651 nsdn
boss.cl SM.c1-PST2-see that Ntdoge.cl SM.c1-PRS-can do work.c3

‘The bos saw that Ntdoge was capable of doing the work.” OR ‘The boos saw that Ntdoge could do the
work.’



f) The student saw that the answer would require math skills.

A4f”) Ok nudu abitéhé 1€ ndimbhe igala 6at yi minsongi
puda a- bi- téhél¢ ndimbhe i- ga- la bat yi minsongi
student.cl SM.c1-PST2-see that answer.c7 SM.c7-FUT2-can ask knowledge.7 math.c4
‘The student saw that the answer would require math skills’

A4f”) Ok nudu abindg 1€ ndimbhe igala bat yi minsongi
nuda a- bi- ndg l¢ ndimbhe i- ga- la bat yi minsongi
student.c1 SM.c1-PST2-undestand that answer.c7 SM.c7-FUT2-can ask knowledge.7 math.c4
‘The student understood that the answer would require math skills’
Comment: (A4f”) and (A4f") are both acceptable translations for the sample sentence ‘The student saw
that the answer would require math skills’.

g) The students know that their teacher keeps a record of their absences.
Ok batda banji 1¢ malét wap antééda matdl map
batdu ba- n- ji  1l¢ malét wip  a- n- tééda matol map
students.c2 SM.c2-PRS-know that teacher.c1 their.cl SM.c1-PRS-keep absence.c6 their.co
‘The students know that their teacher keeps a record of their absences’.
h) The newspapers have revealed that the president knew the actress.
Ok mapépmaminan mabiunda 1¢ nkena abé yi mudaa mintuk
mapépmamindn ma- n- undd 1¢ pkena @ a- 6é yi mudad  mintuk
newspapers.c6  SM.c6-PST1-reveal that president SM.c1-be.PST3 know woman.cl games.c4
“The newspapers have revealed that the president knew the actress.
AS5a) Ruth asked the servants to make the children eat.
A5a’) Ok Rith abibat bagwelel 1¢ badzés boongé
Rith  a- bi- bat bagweleli 1¢ proiba-  dzé-s boongé
Ruth.c1 SM.c1-PST2-ask servants.c2 that pro SM.c2-eat-CAUS.SBJV children.c2
‘Ruth asked the servants (she ordered them directly) to make the children eat.’
AS5a’’) Ok Riith abibat 1¢ bagwelel badzés boongé
Rith  a- bi- bat 1¢ bagwelel b6a-  dzé-s boongé
Ruth.c1 SM.c1-PST2-ask that servants.c2 SM.c2-eat-CAUS.SBJV children.c2
‘Ruth asked the servants to make the children eat.’

Or ‘Ruth gave somebody else instructions that the servant should make the children eat’
Comments: Note that in (A5a”) where the main verb -Hat ask/order precedes the lexical complementizer /¢
‘that’ and directly selects the direct object bdgwelel ‘servants’, only one subjunctive reading is possible.
On the contrary, in (A5a’’) where the same verb directly select the whole embedded declarative clause
containing the direct object of the main verb, two readings are possible.

b) Ruth has asked the servants how to stop the water from boiling too long.
Ok Rath ambat bagwelel 1¢1aa bansek malép lipel

Rath  a- m- bat bagwelel 1élaaba n- sek malép li- pel
Ruth.c1 SM.c1-PST1-ask servants.c2 how INDF PRS-stop water.c6 INF.c5-boil
ntandaa ngéda

7.long 7.time
‘Ruth asked the servants how to stop the water from boiling for a long time’
¢) Ruth asked the servants when they would warn the tourists about the weather.
AS5c’) Ok Rith abibat bagwelel (1) kélkii bagabéhé bakeke ngeda
Riath  a- bi- bat bagwelel; (1€) kélkii pro; 6a- gi-  6éhé bakeke  pgeda
Ruth.c1 SM.c1-PST2-ask servants.c2 that when pro SM.c2-FUT2-warn tourists.c2 time.c7
‘Ruth asked the servants when they would warn the tourists about the weather.’
AS5¢’’) Ok Rith ambat bagwelel ikél bagabéhé bakeké ngeda
Rith  a- bi- bat bagwelel; i kel pro; 6a- ga-  b6éhé bakeke ngeda
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Ruth.cl SM.c1-PST2-ask servants.c2 LOC day pro SM.c2-FUT2-warn tourists.c2 time.c7
‘Ruth asked the servants when they would warn the tourists about the weather.’

d) Ruth is asking that the boys say a few words at the ceremony.
Ok Riith arhbat 1¢ boongé bapst ndek Bibig i likoda
Rith a- m- bBat 1& boongé  ba-  pdt ndek Biblg  likoda
Ruth SM.c1-PRS-ask that children.c2 SM.c2-speak.SBJV few words.c8 ceremony.c5
‘Ruth is asking that the boys say a few words at the ceremony’
A6a) Ruth will tell the women to make the children eat.
A6a’) Ok Rith agakal mudaa 1¢ adzés boonge
Riath  a- ga- kil madaa; 1¢ pro; a- dzé-s boongé
Ruth.c1 SM.c1-FUT2-tell woman.c1 that pro SM.c1.SBJV-eat-CAUS children.c2

‘Ruth will tell the woman to make the children eat.’
A6a’’) Rith agakal 1¢ midaa adzés boongé
Rath  a- ga- kil l¢ muadaa a- dzé-s Boongé
Ruth.cl SM.c1-FUT2-tell that woman.cl SM.c1-eat-CAUS.SBJV children.c2
‘Ruth will tell the woman to make the children eat.” OR ‘Ruth will speak to someone else that the woman
should make the children eat.’
Comment: As with (A5a’) and (A5a’’) above, three different readings are attested for (A6a’) and (A6a’’).
In the first case i.e. in (A6a’) where the root verb kal ‘tell’directly selects its direct object DP/NP, muidaa
‘woman’, only one reading is possible. In (A6a’’) on the contrary where the same root verb selects an
embedded clause containing the subject of the embedded clause (which acts as the direct object of the
root verb in (A6a’), two readings are possible.

b) Ruth has told the women how to stop the water from boiling too long.
Ok Riith ankal 66daa 1€14a bansek malép lipel ntandaa ngéda

Rith  a- n- kil bodaa €144 6a  n- sek malép li- pel ntandaa
Ruth.c1 SM.c1-PST1-tell women.c2 how INDF PRS-stop water.c6 INF.c5-boil long.c7
ngéda
7.time

‘Ruth has told the women how to stop the water from boiling too long’.

¢) Ruth is telling the women when she would warn the tourists about the weather.
A6¢”) Ok Rith ankal 66daa kélkii anlama Béhé bakeké ngeda
Rith; a- - Kkal bodaa kélKii pro; a- n- lama Péhé bakeké  injua ngeda
Ruth SM.c1-PRS-tell women.c2 when pro SM.cl-PRS-would warn tourists.c2 PREP time.c7
‘Ruth is telling the woman when she would warn the tourists about the weather.’
A6¢’’) Ok Riith ankal 66daa kelkii anlama Béhé bakeke ngeda
Rith; a- 9- kal bodaa i pgedaproja- n- lama Péhé bakeke injut
Ruth SM.c1-PRS-tell women.c2 LOC 7.time pro SM.c1-PRS-would warn tourists.c2 PREP ngeda
time.c7

‘Ruth is telling the woman when she would warn the tourists about the weather.’

d) Ruth told the women that one of them should say a few words at the ceremony.
Ok Riith abikal 66daa 1¢ wada wap abélama pst ndék Bibig likoda
Rathi  aj- bi-  kal bodaa 1¢ wada wap pro a- 6¢é lama pdt
Ruth.c1 SM.c1-PST2-tell women.c2 that one their pro SM.c1-be.PST should speak
ndék Bibag likoda
few word.c8 ceremony.c5
AT7a) Orlando persuaded the boys that Bill liked the book.
Ok ngan abinéébaha dildya 1¢ Hjol angwés kaat
ngan  a- bi-  nééba- ha dilsya 1¢ Hjol a- n-  gwés kaat
Ngan.cl SM.c1-PST2-accept-CAUS boys.12 that Hiol.c1 SM.c1-ASP-like book.7
‘Ngan persuaded the boys that Hiol liked the book.’

b) Orlando persuaded the boys to watch the ceremony.
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A7b’) Ok ngan abinéébaha dildya libeenge masak EMBEDDED INFINITIVE

pgan  a- bi- nééba- ha dildya li- beepge masak
Ngan.cl SM.c1-PST2-accept-CAUS boys.12 INF.c5-watch dance.c6

‘Ngan persuaded the boys to watch the dance.’

A7b’”) Ok ngéan abinéébaha dildya l€ b4 béengé masik EMBEDDED DECLARATIVE

pgan;  a- bi- nééba- ha dilbya; 1€ proi ba;  béengé masak
Ngan.cl SM.c1-PST2-accept-CAUS boys.12 that pro SM.c2-watch.SBJV dance.c6

‘Ngan persuaded the boys that they (Ngan and the boys) should watch the dance.’
A7b’””) Ok ngan abinéébaha dildya 1€ 64 béengé likodh EMBEDDED DECLARATIVE
ngan  a- bi- nééba- ha dildya; 1&¢  pro; dis- béengé likoda
Ngan.cl SM.c1-PST2-accept-CAUS boys.12 that pro SM.c12.SBJV-watch ceremony.c5
‘Ngan persuaded the boys that they (only the boys) should watch the ceremony.’
A8a) We promised the boys that we would yell at the donkeys.
b) We promised the boys to yell at the donkeys.

Comment: Although (A7b’’) and (A7b’’”) have the same embedded clause, they differ at the level of the
embedded subject. In the first case i.e. in (A7b’"), the plural subject marker 6ad- is all-inclusive in that it
includes both the subject of the main clause Ngan and the subject of the embedded clause dildya ‘the
boys’. Recall that when two different subjects (nouns from two different noun classes) bear the semantic
value [+human] agreement is won by noun class two (which is realized as 6a-), whether there is a subject
bearing class two features or not. In (A7b’””), the embedded pro; subject which is co-indexed with the
subject marker di- includes only the closest/lowest subject diloyd; ‘the boys’.

A9a) The boys demanded that we watch them playing.
A9a’) Ok dildga dibibat 1¢ dibénge tf5 (kikii) dintog

diloga; di- bi- bat 1€ di bénge tf5 (kikii) pro; di- n- tog
boys.12 SM.c12-PST2-ask that we watch.SBJV them.c12 as pro SM.c12-ASP-play

‘The boys demanded that we watch them playing/the boys demanded that we watch as they played.’
A9a’”) Ok dildga dibibat bés 1¢ dibénge tf3 (kikii) dintog

dildga; di- bi- bat bés 1¢ di béngée tf5 (kikii) pro; di- n-  tog
boys.12 SM.c12-PST2-ask us that we watch.SBJV them.c12 as  pro SM.c12-PRS-play

‘The boys demanded us to watch them playing/the boys demanded us to watch as they played.’

A9a’”’”) Ok dildga dibibat 1¢ bés dibénge tf5 (kikii) dintog

dildga; di- bi- bat 1¢ beés di béngé tf5 (kikii) pro; di- n- tog
boys.12 SM.c12-PST2-ask thatus we watch.SBJV them.c12 as pro SM.c12-PRS-play

‘The boys demanded us to watch them playing/the boys demanded us to watch as they play.’

Comments: In (A9a’’’), two interpretations are possible: (i) either ‘the boys demanded us (directly to us)
to watch them playing’ or (ii) ‘the boys asked (somebody else/not us directly) that we should watch them
playing’.

b) The boys demanded to watch us playing.

A9b’) Ok dildga dibibat 1€ dibénge 6¢&s (kikii) dintog Embedded declarative

dildga  di- bi- bat le di béngé b6¢s (kikii) di n- tog
boys.c12 SM.c12-PST2-demand that they watch.SBJV us as we ASP-play

‘The boys demanded to watch us playing’/the boys demanded to watch as we played’
A9b’”) Ok dildga dibibat libéngé 6¢&s (kikii) dintog Embedded infinitive

dildga  di- bi- bat li bénge b¢s (kikii) di n- tog
boys.c12 SM.c12-PST2-demand INF.c5 watch us as  we ASP-play

‘The boys demanded to watch us playing.’

A10a) The boss requires that we wear these shirts.

Ok nane ambat 1¢ dihapa Bikitigbingii fini

nane  a- m- bat leé di hapa Bikitig bi ngii Pini

boss.cl SM.c1-PRS-ask/require that we wear.SBJV short.c8 CONN.c8 up these.c8

“The boss requires that we wear these shirts.’



b) The boss requires us to wear these shirts.
Al10a”) Ok nane ambat 1¢ dihaPa Bikitigbingii fini
pane  a- m- bat l¢ di hapa Bikitlg bi ngii Pini
boss.cl SM.c1-PRS-ask/require that we wear.SBJV short.c8 CONN.c8 up these.c8
“The boss requires that we wear these shirts.” OR
A10a’’) Ok nane arhbat bés 1¢ dihapa Pikitigbingii fini
pane a- m- bat bésle di hapa Bikitig bi ngii Pini
boss.cl SM.c1-PRS-ask/require us that we wear.SBJV short.c8 CONN.c8 up these.c8
‘The boss requires that we wear these shirts.’
A10a’’”) Ok nane ambat 1¢ bés dihapa Bikitigbingii fini  Focus reading on 6/és ‘us’
nane  a- m- bat l¢ bés di hapa Bikitig bi ngii Pini
boss.cl SM.c1-PRS-ask/require that us we wear.SBJV short.c8 CONN.c8 up these.c8
‘The boss requires that WE (as opposed to you/them etc.) wear these shirts.’
Comments: Note that in (A10°””) where the direct object pronoun 6és ‘us’ is embedded, it conveys a
contrastive interpretation.
Alla) Our wives prefer that we stop smoking.
Ok baa b6és bangwés ¢ digwas nuda
baa bés ba- n- gweés l¢ di pwas nuda
wives.c2 our.c2 SM.c2-PRS-prefer/want that we stop/abandon.SBJV smoking.c3
‘Our wives prefer that we stop smoking.’
b) Our wives would prefer for us to continue smoking.
Ok baa bés banla gwés 1¢ dikéna nuda ni Bisu
baa bés ba- n- la gwes 1¢ di kéna nuda ni Pist
wives.c2 our.c2 SM-PRS-would prefer/like that we go-APPL.SBJV smoking.c3 CONN front.c8
‘Our wives would prefer for us to continue smoking.” Lit: ‘Our wives would prefer that we continue
smoking.’
Comments: Note that the verb ke ni fisu ‘continue’ or ‘keep on/continue’ literally means ‘go/walk with
front’. When it selects for a direct object like in (Allb) above, it is associated with a comitative
applicative (here the morpheme -nd ‘with/along with’and the direct object yuda ‘smoking’ intervenes in
between the complex verb ké-nd (literally ‘go with’) and its inherent/intrinsic object Sisu ‘front’.
¢) Our wives would prefer to keep smoking.
Allc’) Ok baa bés banla gwés likena nuda ni Pist
baa bés ba- n- la gwes (li)- ke-na  nuda ni Bisu
wives.c2 our.c2 SM.c2-PRS-would prefer INF.c5-go-APPL smoking.c3 CONN front.c8
‘Our wives would prefer to keep smoking’
Allc’’) baa bés banla gweés 1¢ bankena nuda ni Bist Anaphoric and non-anaphoric readings

[Baa 6és]i ba- n- la gwés l¢ proi/jbai/i- 1- ke-na nuda
wives.c2 our.c2 SM.c2-PRS-would prefer that pro SM.c2 PRS-go-APPL.SBJV smoking.c3
ni Bisu

CONN front.c8

‘Our wives would prefer themselves to keep smoking’ Lit: ‘[Our wives]; would prefer that they; (other
persons) keep smoking’

Comments: Note that coreference is also possible between the embedded subject marker Ad- SM and any
other known discourse referent. So, sentence (Allc’”) can have anaphoric reading without an overt
reflexive marker. Sentence (Allc’’”) below shows that an anaphoric and a non-anaphoric one reading are
also possible with an overt reflexive marker. Here again, a non-anaphoric reading is attested if the
coreferent is given in the discourse.

Allc”’) baa bés banla gwés 1¢ Bdmedé bankena nuda ni Pisu

[baa bés]i b6a- n- la  gwés l&¢ Bo-medé/; Bai- 1n- ke-na

wives.c2 our.c2 SM.c2-PRS-would prefer that PRN-RFM SM.c2 PRS-go-APPL.SBJV

nuda ni Bisu



smoking.c3 CONN front.c8
‘Our wives would prefer themselves to keep smoking’ Lit: ‘[Our wives]i would prefer that them; (other
persons) to keep smoking’
Al2a) We will hope that the nurses will let the boys eat.
Ok Al2a’) di gabst ném lé bodaabamatibla baganwas dildga dijé
di ga- 63tpém1é¢ bHodaa ba  matibla 6a- ga- nwasdildga (1€) pro; di-
we FUT2-hope that women.c2 PREP healing.c6 SM.c2-FUT2-let boys.12 that pro SM.12-
dzé
eat.SBJV
‘We will hope that the nurses will let the boys eat’.
Al12a’) Ok di gabstném 1¢ bodaabamatibla baganwas 1€ dildga didzé
di ga- bB3tpém1é bodaa B4  matibla  6a-  ga-pwas le¢ dildga di- dze
we FUT2-hope that women.c2 PREP healing.c6 SM.c2-FUT2-let that boys.12 SM.12-eat.SBJV
‘We will hope that the nurses will let the boys eat’.
b) We hoped for Mary to be the winner.
A12b’)? di bibdtném injut Marija likomol
di bi- 65tném injuu Marija li-komol
we PST2-hope for Mary INF.c5-win
‘We hoped for Mary to win’
A12b’’) Ok di bibdtném 1¢ Marija ankomol
di bi- bB3tpéml¢ Marija a- n-  komol
we PST2-hope that Mary.cl SM.c1-PRS-win
‘We hoped that Mary would win.’
A12°") Ok di bib6dol Marija ném 1¢ ankomol
di bi- 66dol Marija pém 1€ proa- n-komol
we PST2-hope Mary.cl heart.c3 that pro SM.c1-PRS-win
We hoped that Mary would win.’
Comments: Note that the verbs 65tpém ‘hope’/have hope’ in (A12b’ and A12b’’) and 66dol mut  ném
‘set one’s hope on somebody’ (literally) in (A12°°’) are almost the same.

c) We hope to see Mary win.
A12¢’) Ok di mbtném litéhé Marija ankomol
di m- bB3tpémli-  téhé Marija a- n-komol

we PRS-hope  INF.c5-see Mary.cl SM.c1-PRS-win
‘We hope to see Mary win’
Al12¢”’) Ok di mbitném l¢ digatéhé Marija ankomol
di m- 63tpémlé di-ga-  téhé Marija  a- n-komol
we PRS-hope that we FUT2-see Mary.cl SM.c1-PRS-win
‘We hope that we will see Mary win’
Al13a) We want that our son be the winner. (?? in English)
Al3a’) Ok dingwés 1¢ 15g yés ikomil
di n- gwéslé 15g yés  i- kdmal
we PRS-want that son.c7 our.c7 SM.c7-win.SBJV
Lit: “We want that our son [should] win’
Al13a”’) ok dingweés 1¢ 15g yés iba pnkdm3l
di n- gweésle 15g  yés  i- ba nkomol
we PRS-want that son.c7 our.c7 SM.c7-be.SBJV winner.cl
‘We want that our son be the winner’
Comments: Note that both (A13a’’) sentence and its (A13a’’) counterpart are correct.
b) We want the visitors to let their children play.
Ok dingwés 1¢ baken banwas bon bap batog
di-n- gwéslé baken Ba- nwas  bBon bap ba-  tog

10



we PRS-want that guests.c2 SM.c2-let.SBJV children.c2 their.c2 SM.c2-play.SBJV
‘We want the guests /visitors to let their children play’.
¢) We want to show our goods to the visitors.

A13c¢”) Ok di ngwés unda baken masangd més
di-)- gwésunda baken  masangd més
we PRS-want show guests.c2 belongings.c6 our.c6
‘We want to show our belongings to the guests/visitors’
A13¢”’) dingwés 1¢ di inda baken masangd més
di-n- gwéslé di unda baken  masangd més
we PRS-want that we show guests.c2 belongings.c6 our.c6
‘We want to show our belongings to the guests/visitors’
d) John wants to meet at three o’clock.
A13d’) Ok Johanes afgwés 6dma *(ngim mit) i ngén da
Johénes a- - gwés bima *(ngim mit) i pgéy aa
John.cl SM.c1-PRS-want meet INDF man.cl LOC hour.9 three.c9
‘John wants to meets [somebody] at three o’clock’
A13d’) Ok Johanes agwé liboma 1 ngey da
Johénes a- gw¢ liboma i ngéy aa
John.c1 SM.c1-have meeting.c5 LOC hour.c9 three.c9
‘John has a meeting at three o’clock’
Note: For (A13b) try to preserve the meaning of ‘to meet at three o’clock’ as best you can in the
translation.
Comments: Sentence (A13d’”) is ungrammatical without the indefinite direct object ygim miit ‘somebody’.
Al4a) We will show the visitors that the baboons fear the hyenas.
Ok Al4a’) di gaunda baken 1¢ gwoj binkon nd3éé woni
di ga- unda baken lé  gwoj bi- - kon nd3éé  woni
we FUT2-show guests/visitors that hyenas.c8 SM.c8-PRS-be ill lions.c10 fright.c3
‘We will show the visitors that the baboons fear the hyenas’.
Comments: In Basa’a, taken alone, the verb kon means ‘be ill’, but when conveying the meaning of
‘fearing/scaring’ it is associated with an inherent complement which is wozi ‘fear’ giving the compound
kon wopi ‘to scare/fear’. When the verb kon wopi ‘to scare/fear’ is used transitively, it gives rise to a
discontinuous verbal structure (kon ‘be ill”)-direct object-inherent complement (woyi ‘fear/fright (noun)
like kon ndzéé woni ‘fear lions’ in (A14a’).
b) The visitors were shown that the baboons do not like the hyenas.
A14b’) Ok 64 biunda baken 1¢ gwoj bingwés 6¢é nd3éé Most expected
6a bi- unda baken l¢  gwoj bi- - gwésbé ndzéé
IND PST2-show guests/visitors that hyenas.c8 SM.c8-PRS-like NEG lions.c10
“They (indefinite) showed the visitors that hyenas do not like lions.’
A14b’”) ?? ba biund-b4-ha baken 1¢ gwoj bingweés 6¢ ndzéé Passive: only rarely or even never
b4 bi- und- bBa- ha  bBaken 1&¢ gwoj bi- n- gwés bé ndzéé
IND PST2-show-PASS-CAUS guests.c2 that hyenas.c8 SM.c8-PRS-like NEG lions.c10
‘The visitors were shown that the hyenas do not like the lions’
Al5a) We will prove to the visitors that the baboons are worried about the hyenas.
OK di gaunda baken 1¢ gwoj binkon nd3éé woni
di ga- undad baken 1€ gwoj bi- - kon nd3éé  woni
we FUT2-show guests/visitors.c2 that heynas.c8 SM.c8-PRS-be ill lions.c10 fear.c3
‘We will show to the visitors that hyenas worried about lions.’
b) The visitors were proved (to) that the hyenas hate the baboons. (* in English)
A15b’) Ok 64 biunda baken 1¢ gwoj binoo ndzéé Most expected
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ba bi- unda baken 1¢ gwoj bi- 9-00 ndzéé
IND PST2-show guests.c2 that hyenas.c8 SM.c8-PRS-hate lions.c10
‘They (indefinite) showed the visitors that the hyenas hate the lions’

A15°%) ?? b4 biundbaha baken1¢ gwoj binoondzéé  Passive: only rarely or even never
64 bi- und- ba- ha  bBaken leé  gwoj bi- n- 20 ndzéé
IND PST2-show-PASS-CAUS guests/visitors.c2 that heynas.c8 SM.c8-PRS-hate lions.c10

‘The visitors were shown that the hyenas hate the lions.’
Al6a) The evidence suggests (to me) that the students are willing to work hard.
Ok Bibondl biunda mé 1¢ batda bagwée ngoy lisal ni nguj

Bibonol bi- unda (m¢) 1&¢  bandh ba-  gwée 1ngon
evidence/facts.c8 SM.c8-show/suggest me that students.c2 SM.c2-have.PRS will.c9
li-sal ni ngyj

INF.c5-work CONN determination.c9
‘The facts suggest (to me) that the students are willing to work hard’
b) It has been suggested (to me) that the prisoner is guilty.
A16b’”) Ok ba nkal mé 1¢ mutmog ankwd nkaa Active
6a p- kil méle mut mog a- n-  kwdnpkaa
IND PST1-tell me that person.cl prison.c4 SM.c1-PST1-fail trial.c3
‘I have been told that the prisoner is guilty.” Lit: ‘They (indefinite) told me that the prisoner is guilty.’
A16b’") Ok i pkéla mé 1¢ mutmog ankwd nkaa Passive
i n-  kél-a mé ¢ mut mog a- n- kwd pkaa
EXPL PST1-tell-PASS me that person.cl prison.c4 SM.c1-PST1-fail trial.c3
‘I have been told that the prisoner is guilty.’
A16b’””) ba nkal mé 1é¢ mutmog aye lihoha
ba n- kil (m€) 1¢ mut mog a- ye lihoha Active
IND PST1-tell me that person.cl prison.c4 SM.cl-be.PRS fault.c19
‘I have been told that the prisoner is guilty.” Lit: ‘They (indefinite) told me that the prisoner is guilty.’

A16b’”"”) Ok i pkéla mé 1€ mutmog aye lihoha Passive: only rarely
i p- kél-a mé 1€  mut mog a- ye lihoha
EXPL PST1-tell-PASS me that person.cl prison.c4 SM.c1-be.PRS fault.c19
‘It has been suggested/told to me that the prisoner is guilty.’
NB: Note that all the four sentences above correspond to the sample English sentence ‘It has been
suggested (to me) that the prisoner is guilty’.
Al7a) The giraffe tried to reach the treetops.
Ok pgolory ibinoodé pam mandzdny mapié
pgolén  i- bi- noodé pdm mand3zdy ma Bié
giraffe.c9 SM.c9-PST2-try  reach tops.c6 CONN trees.c8
‘The giraffe tried to reach the treetops’
[s this possible?
ngoldn ibinoodé lipam mand3dn mapié
b) Mary tried for her son to clean his room. (* in English)
A17b”) Ok Marija abinood¢ 1€ 15g yéé idzowa tlin jéé
Marija a- bi- noodélé [ldg yééli i b6y gol tlin Jé6&
Mary.cl SM.c1-PST2-try  that son.c7 her.c7 SM.c7-clean.SBJV room.c7 his.c7
Lit: ‘Mary tried that her son clean his room.’
A17b’’) * Marija abinood¢ injuti 13g yéé lidzowa tiin jéé
Marija a- bi-  noodé¢ injutt [ldg  yéé]i li- dzowa tlin jééi
Mary.cl SM.c1-PST2-try  for son.c7 her.c7 INF.c5-clean room.c7 his.c7
*Mary tried for her son to clean his room.’
¢) Mary tried to get her son to clean his room.
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Al7¢”) Ok Marija abinoodé 1664 15g yéé 1i66ngol tlin jéé Embedded infinitive
Marija a- bi- noodé 1é6a lbg  yéé  li- bongol tin jéé
Mary.cl SM.c1-PST2-try  find/get son.c7 her.c7 INF.c5-clean room.c7 his.c7
‘Mary tried to get her son to clean his room.’

A17¢’’) Ok Marija abinoodé 1664 15g yéé 1¢ i66ngol tin jé¢  Embedded that-clause

Marija a- bi- noodéléba  [ldg yééli l& proi- 66 gol tin jéé

Mary.cl SM.c1-PST2-try  find/get son.c7 her.c7 that pro SM.c7-clean room.c7 his.c7

‘Mary tried to get her son to clean his room.’

A17¢’’’) Ok Marija a-bi-noodé 1€64 15g yéé injuu 1i-661g061 tin jé¢ Embedded for-clause
Marija a- bi- noodé¢ 164 15g  yéé injuu li- bongol tin jéé
Mary.cl SM.c1-PST2-try  find/get son.c7 her.c7 for INF.c5-clean room.c7 his.c7

‘Mary tried to get her son to clean his room.’

NB: All the sentences above are acceptable under the English sentence ‘Mary tried to get her son to clean

his room’notewithstanding the variety of the complement clauses.

A18a) The baboon failed/neglected to feed her child.

Ok joj ibijendés 1ijés man wéé

joj i- bi-  jendés li- jés man  wée

hyena.c9 SM.c9-PST2-neglect INF.c5-feed child.c1 his.cl
‘The hyena neglected to feed her child.’

b) The machine managed to predict the right answer.
Ok kej ibinoodé hégda banga ndimbhe
kej i- bi- noodé hégda banga ndimbhe
machine.c7 SM.c7-PST2-try  predict right.c7 answer.c7
‘The machine managed/tried to predict the right answer.’
¢) The prisoners need to convince the guards to give them more food.
A18c’) Ok botbamdg banlama néébaha batat liti 65 ngandag Pidzek

bot ba  mdg ba-n-lama nééba-ha batat li- ti 6
persons.c2 PREP prison.4 SM.c4-PRS-need accept-CAUS guards.c2 INF.c5-give them.c2
pgandag PBidzék

alotof food.c8
“The prisoners need to convince the guards to give them more food’
A18c””) Ok botbamdg banlama 63n 1¢ batat banéebe litl 63 ngandag Bidzék
bot ba mdg ba- n- lamabonlé batat ba-  néebe li- ti
persons.c2 CONN prison.4 SM.c4-PRS-need do that guards.c2 SMc2-accept.SBJV INF.c5-give
63 ngandag Bidzék
them.c2 alotof food.c8
‘The prisoners need to convince the guards to give them more food’
d) The leaders decided to attack the enemy.
A18d”) Ok bakena babikit 1¢ bansut Hyoo
bakend  ba-  bi- kit 1€ proi ba4- A-  sud  ARoo
leaders.c2 SM.c2-PST2-decide that pro SM.c2-PRS-attack enemy.c1
‘The leaders decided to attack the enemy.’
A18d’’) Ok bakena babijon makidig 1¢ 6ansut nnoo
bakend; 6a-  bi- jop makidig 1€ pro; b4- n-  sud  Hnod
leaders.c2 SM.c2-PST2-take decisions.c6 that pro SM.c2-PRS-attack enemy.cl
‘The leaders decided to attack the enemy.’/The leaders made a decision to attack the enemy.’
e) The house needs to be clean before the guests come.
Al18e’) Ok ndap inlama 666nglana ilolé baken banlo
ndap  i- n- lama boongl-a-na ilole  baken 64- n- 1Io
house.c7 SM.c7-PRS-need clean-PASS-CAUS before guests.c2 SM.c2-PRS-come.SBJV
‘The house needs to be clean before the guests come’.
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Al18e’”) Ok ndap inlama 1¢ i66dnglana ilolé baken banlo
ndap;  i- n- lama l&¢  pro; i mboongl-a-na ilolé¢  baken
house.c7 SM.c7-PRS-need that pro SM.c7 clean-PASS-CAUS.SBJV before guests.c2
ba- n- Io
SM.c2-PRS-come.SBJV
‘The house needs to be cleaned before the guests come’.

f) We will prepare to leave when the guests have eaten dinner.
A18f”) Ok digakooba linjodi ingén baken bammal dzé
di ga- kooba li- njodii ngén baken ba- m- mal dzé
we FUT2-prepare INF.c5-leave LOC moment guests SM.c2-FUT1-finish eat
‘We will prepare to leave when the guests have eaten dinner’.
A18f”) Ok digdkooba manjodi ingén baken barhmal d3é
di ga- koobd manjodi i pgén baken 6a- m- mal d3¢
we FUT2-prepare departure.c6 LOC moment guests SM.c2-FUT2-finish eat
‘We will prepare for departure when the guests have eaten dinner’.
A18f"") Ok digakooba linjodi baken bamamal dzé
di ga- koobad li-njodi baken 64- ma mal dzé
we FUT2-prepare INF.c5-leave guests SM.c2-ASPcompr finish eat
‘We will prepare to leave when the guests have eaten dinner’. We will prepare to leave after the guests
have eaten dinner.’
A18f°”) Ok digakooba manjodi baken bamamal dzé
di ga- kooba manjodi baken ba- ma- mal dzé
we FUT2-prepare departure.c6 guests SM.c2-ASPcompr finish eat
‘We will prepare for departure after the guests have eaten dinner’.

g) We plan to succeed in making money for company.
Ok dinkooba4 lila kahil ndap jés nkus
di - kooba li- la kuahil ndap nsdn  pkus
we PRS-plan INF.c5-can make-BEN house.c7 work.c3 money.c3
‘We plan to succeed in making money for the company.’
A19a) The elephant seemed to like to go to the cornfield.

A19a’) nd3ok ibipoona weé ibégwés like i wdm G mbaha Raising

nd3oki i- bi- poona weé pro; ii- 6¢é gwés li- ke 1 wdm elephant.c9
SM.c9-PST2-seem as if pro SM.c9-be.PST like INF.c5-go LOC farm.c3

u mbaha

PREP corn.c7

Is i-b¢é gwés two words or one?
(A192a”’) Ok i bipoona we¢ ndzok ibégwes like 1 wdm 1 mbaha
i bi- poona weé¢ ndzok i- 6¢é gwés li- kei wim 1 mbaha EXPL
PST2-seem as if elephant.c9 SM.c9-be.PST like INF.c5-go LOC farm.c3 CONN corn.c3
‘It seemed as if the elephant liked to go to the cornfield.’
b) A bird appears to have eaten the seeds.
(A19b”) Ok hinuni himhpoona we¢ hindz¢ mboo Raising
hinuni;  hi- m- poona weé pro; hi- n-  d3z¢ mbood
bird.c19 SM.c19-PRS-appear as if pro SM.c19.PST1-eat seeds.c10
‘A bird appears to have eaten the seeds.’
A19b”") Ok i mpoona weé hinuni hindzé mboo
i m- poona we€ hinuni hi- n-  d3¢ mboo
EXPL PRS-appear as if bird.c19 SM.c19-PST1-eat seeds.c10
‘It appears that the bird has eaten the seeds.’
c) The birds are likely to want more seeds.
Ok dinuni di yé bebee ni bat ngandak mboo
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dinuni  di- yé bebee ni bat ngandak mboo
birds.12 SM.c12-be.PRS about to/likely INF ask more  seeds.c10
“The birds are likely to ask more seeds.’
d) The boys ought to feed the cattle.
Ok dildga dinlama jés 6émba
dildga  di- n- lama  jé-s bémba
boys.c12 SM.c12-PRS-ought to eat-CAUS cattle.c9
‘The boys ought to feed the cattle.’
e) The rain is certain to ruin the crops.
Ok ndp anoPos Pidzek ngi peena
ndp a- n- OPos Pidzek ngi peena
rain.c1-SM.c1-PRS-ruin crops.c8 without doubt
‘The rain certainly ruins the crops.’
f) The rain began to ruin the crops.
Ok ndp abibododl 6B6s Pidzek
ndp a- bi-  60dol 6pos Pidzek
rain.cl SM.c1-PST2-begin ruin crops.c8
“The rain began to ruin the crops’.
g) Our neighbor turned out to be a famous writer.
A19g’) Ok mut wes 1ibog abihjielba (mut) matila nkéni
mut wes  1libog a- bi-  hjiel-6a (mut) matila nkéni
person.cl our.cl neighborhood.c5 SM.c1-PST2-turn-RES (person.cl) writing.c6 big.cl
‘Our neighbor turned out to be a famous writer’.
A19g”’) Ok mut wés libog abiyiya hjiclba (mut) matila nkéni
mut wes  1ibog a- bi-yiya-  hjiel-ba (mut) matila pkéni
person.cl our.cl neighborhood.c5 SM.c1-PST2-ASP-turn-RES (person.cl) writing.c6 big.cl
‘Our neighbor turned out to be a famous writer (i.e., we learned of his fame sometime after we had met
him)
(Comment: As can be seen above, the morpheme -yiya- denotes an aspectual interpretation whose role is
to denote an event that takes occurs just after a given event has taken place. The morpheme -yiyd derives
from the lexical verb yéglé which means ‘remain/stay behind’. Literally, when associated with a verb, the
morpheme -yiyd- conveys the meaning of an action that takes place after another one has occured.
A20a) John was certain that the lights were out.
Ok Johanes abiji ni t6j 1¢ mapafi mabée i mbédgé
Johanes a- bi- ji ni  toj 1¢ mapGpi ma- bHée i mbédgé
John.cl SM.c1-PST2-know with certainly that lights.c6 SM.c6-be.PST LOC outside.c7
‘John certainly knew that the lights were out.’
b) It will appear that the defendant is guilty. (Even if he is not)
A20a”) Ok i ganéné 1€ nkée i ye lihoha
i ga- néné 1€ pkée i- ye lihoha
EXPL FUT2-appear that defendant.cl SM.c1-be.PRS fault.c5
‘It will appear that the defendant is guilty.’
A20a’’) i ganéné 1€ pkée ankwd nkaa
i ga- néné 1é¢ pkée a n- kwd nkaa
EXPL FUT2-appear that defendant.cl SM.c1-PRS-fail trial.c3
‘It will appear that the defendant is guilty.’

c) It is likely that the boys will go fishing.
Ok 1 nnéné ni toj 1€ dildga diga keé 15p
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i n- néné 1é¢ dildga di- ga- keé 15p
EXPL PRS-appear that boys.c12 SM.12-FUT2-go fishing.c3
‘It is likely that the boys will go fishing.’
d) It is probable that the boys will go fishing. (i.e., it is more likely than not)
Ok i nla ba mbale 1¢ dildga diga ke i 15p
i n- la bambale 1¢ dildga di- ga- kei 15p
EXPL PRS-can be truth.c7 that boys.c12 SM.c12-FUT2-go LOC fishing.c3
‘It is probable that the boys will go fishing.’
e) It is true that the south is warmer.
Ok 1 yé mbale 1¢ welmbdg 0 nléég
i yé mbale 1¢ welmbdg u n-  léég
EXPL be.PRS truth.c7 that south.c3 SM.c3-PRS-heat up
‘It is true that the south is warmer.’
f) It is good that Mary is the winner.
A20f”) Ok i yé 1dngé 1¢ Marija 464 nkomol
i yé 15ngé 1¢  Marija a- ba pkomol
EXPL be.PRS good that Mary.cl SM.c1-be.SBJV winner.cl
‘It is good that Mary is the winner.” Lit: It is good that should be the winner.’
A20f”) Ok 1 yé 15ngé 1¢ Marija 464 nkomol
hala a yé 1ongé 1¢  Marija a- ye pkomol
that.cl SM be.PRS good that Mary.cl SM.cl-be.SBJV winner.cl
‘It is good that Mary is the winner.’
A20f’") 1 yé longé 1¢ Marija akdmal
i yé 13ngé 1¢  Marija a- kdm3l
EXPL be.PRS good that Mary.cl SM.cl-win.SBJV
‘It is good that Mary is the winner.” Lit: It is good that Mary should win.’
g) It is clear that the boys made the children eat the plantains.
A20g”) Ok) intééba i mis ma 66t 6364s6 1€ dildga dibidzés 63ongé makondo
i n-  téé-ba i mis ma 60t 636aso 1¢  dildoga  di-
EXPL PRS-see-PASS LOC eyes CONN persons.c2 all.c2 that boys.c12 SM.c12-
bi-  dzé-s 63ngé makondo
PST2-eat-CAUS children.c2 plantains.c6
Lit: ‘It is seen by everyone that the boys made the children eat plantains.’
A20g”’) Ok b6t bobasd bantehe 1¢ dildga dibidzés 63ongé makondo
bot 63b6aso6 ba- n- téhéle dildoga di- bi-  dzé-s 635ngé
persons.c2 all.c2 SM.c2-PRS-see that boys.c2-SM.c12-PST2-eat-CAUS children.c2
makondo
plantains.c6
‘Everybody can see that the boys made the children eat plantains.’
h) I am happy that everyone will know the truth.
Ok me ye maséé 1¢ hikii mut agaji maliga
me ye maséé l¢  hikii mut a- ga- ji maligé
I be.PRS happiness.c6 that each person.cl SM.cl1-FUT-know truth.c6
‘I am happy that everyone will know the truth.’
A21a) We resisted washing the car.
A21a’) Ok di bitfel dzowa litowa
di bi- tfel dzowa litowa
we PST2-refuse wash car.c5
‘We refused to wash the car.’
A21a’’) Ok di bitfel lidzowa litowa
di bi- tfel li- dzowa litowa
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we PST2-refuse INF.c5-wash car.c5
‘We refused to wash the car.’
b) The children have finished washing the car.
A21b”) Ok boongé bammal dzowa litowa
boongé  Ba- m- mal d3zowa litowa
children.c2 SM.c2-PST1-finish wash car.c5
‘The children have finished washing the car.’
A21b’”) Ok boongé bammal lidzowa litowa
boongé  Ba- m- mal li-dzowa litbwa
children.c2 SM.c2-PST1-finish INF.c5-wash car.c5
‘The children have finished washing the car.’
c) We discussed teaching a course together.
Ok di bi-kwelél (injuu) liniiga minsongi loy
di bi- kwel-él (injui) li- niiga minsongi loy
we PST2-talk-APPL about/for INF.c5-teach mathematics.c4
‘We talked about teaching mathematics together.’
d) The neighbors avoided talking to the police.
Ok botbalibog babikénglé lipodds ngdmin
bot ba  1ibog ba-  bi- kénglé li- p6d-0s ngdmin
persons.c2 PREP neighborhood.c5 SM.c2-PST2-avoid INF.c5-talk-APPL authority.cl
‘The neighbors avoided talking to the authority.’
A22a) Alice guessed that the children would know the answer.
Ok Loki abihegda 1¢ boongé banla ji ndimbhe
Loki  a- bi- hegdalé boongé ba- n- la ji ~ ndimbhe
Loki.cl SM.c1-PST2-guess that children.c2 SM.c2-PRS-would know answer.c7
‘Loki guessed that the children would know the answer’
b) Alice guessed when the children would show the book to the teacher.
Ok Loki abihegda 1¢ 6oongé Hbanla tinda malét kaat
Loki  a- bi- hegdalé boongé ba- n- la ind4 malét kaat
Loki.cl SM.c1-PST2-guess that children SM.c2-PRS-would show teacher.c1 book.c7
‘Loki guessed when the children would show the book to the teacher.’
¢) Alice guessed what the children knew.
A22c¢’) Ok Loki abihegda kii/i jom boongé 6abiji
Loéki  a- bi-  hegdakii/ i jdm  bBoongé ba- bi- ji
Loki.cl SM.c1-PST2-guess what/ AUG thing.7 children.c2 SM.c2-PST2-know
‘Loki guessed what the children knew’
A22¢’’) Ok Loki abihegda kii/i jom boongé 6abéji
Loki  a- bi-  hegda kii/ i jdm  bBoongé ba-  bBé- ji
Loki.cl SM.c1-PST2-guess what/ AUG thing.7 children.c2 SM.c2-be.PST-know
‘Loki guessed what the children knew’
A23a) The boys knew that Alice would know the answer.
Ok dildga dibiji 1¢ Loki anla ji ndimbhe
dildga  di- bi- ji 1€ Loki a- n- la ji  ndimbhe
boys.c12 SM.c12-PST2-know that Loki.cl SM.c1-PRS-would know answer.c7
‘The boys knew that Loki would know the answer.’
b) The boys knew when Alice would tell the story to the president.
Ok dildga dibiji kélkii/ingén Loki anla anlé pkena nan

dildga  di- bi- ji kelkii/ i ngén Loki  a- n- la anl-¢ nane
boys.c12 SM.c12-PST2-know when/ LOC time Loki.cl SM.c1-PRS-can tell-APPL leader.c1
nan

story.c3
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‘The boys knew when Loki would tell the story to the president’.
c) Alice knew which answers the children would be able to guess.
Ok Loki abiji imbé¢ mabadga boongé banla hégda
Loki a- bi- ji imbéé  mabadga  boongé ba- n- la hégda
Loki.cl SM.c1-PST2-know which.10 answers.c10 children.c2 SM.c2-PRS-be able guess
‘Loki knew which answers the children would be able to guess’.
A24a) | saw that Mary was bleeding.
Ok me bitéhé Marija anj5

me bi- téhé Marija a- n- Jd
I PST2-see Mary.cl SM.c1-PROG-bleed
‘I saw Mary bleeding’

b) I saw the rock roll(ing) down the hill..
Ok Me bitéhé ngdk inkandi hikowa
Me bi-  téhé ngdk  i- 9- kudi hikowa
I  PST2-see rock.c9 SM.c9-PROG-roll down hill.c19
‘I saw the rock roll(ing) down the hill
c¢) The rock was seen rolling down the hill.
A24c¢’) Ok bot babitehe ngdk inkundi hikowa Active: Mostly used among the speakers
bot ba-  bi- téhé ngdk i- 9- kundi hikowa
persons.c2 SM.c2-PST2-see rock.c9 SM.c9-PROG-roll down hill.c19
‘People saw the rock rolling down the hill’
A24¢’’) Ok ngdk ibitééba inkandi hikowa Passive: Acceptable, but might be less used
ngdk; i- bi- téé- ba  pro;i- 9- kundi hikowa
rock.c9 SM.c9-PST2-see-PASS pro SM.c9-PROG-roll.down hill.c19
‘The rock was seen rolling down the hill.’
A25a) I hear that students are happier when their homework is interesting.
Ok Me nndg 1¢ baudu bayé maséé ngandak ingén nsdn wap G yé nlam
Men- ndg 1¢ batda ba-  yé maséé ngandak i-ngén nson wap
I PRS-hear that students.c2 SM.c2-be.PRS joy.c6 alot  LOC time.c9 work.c3 their.c3

u- yé nlam

SM.c3-be.PRS nice.c3

‘I hear that the students are happier when their work is interesting.’

b) I heard water drip (ping) from the faucet.
Ok me bindg malé€p mankwel i nkan
me bi- ndg malép ma- - kw-el i nkdn
I PST2-hear water.c6 SM.c6-PROG-drip-APPL LOC pipe.c3
‘I heard water drip (ping) from the pipe.’
c¢) The water was heard dripping from the faucet.

A25c¢”) Ok bot babindg malép mankwel i nkay Active: Mostly used

bot ba bi- ndg malép ma-  f-kw-el i nkdn

person.c2 SM.c2- PST2-hear water.c6 SM.c6-PROG-drip-APPL LOC pipe.c3
‘I heard water drip (ping) from the pipe.’

A25¢”’) *malép mabindga mankwel i nkdn Passive: Unacceptable
malép ma- bi- nog-4 ma-  n-kw-el i nkdn
water.c6 SM.c6-PST2-hear-PASS SM.c6-PROG-drip-APPL LOC pipe.c3
‘The water was heard dripping from the faucet.’

A25¢’’”) Ok malép mabé noga (kikii) mankwel i pkdny Passive: Acceptable
malép ma- bHé- nog-a kikii ma-  n-kw-el i nkdn
water.c6 SM.c6-PST2-hear-PASS as/while SM.c6-PROG-drip-APPL LOC pipe.c3

Lit: “*The water was being heard dripping from the faucet.’
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Comments: Note that the sentences (A25¢’’’) is acceptable in its passive form because and as opposed to

its (A25¢’) and (A25¢’’) counterparts, it encodes a progressive interpretation.

(The example is ? for many English speakers, but with just drip, it is * for most, but many
accept it with fo drip. If there are variations of this kind in your language, please add
commentary and illustrative examples)

A26a) I felt that Mary should have apologized.

Ok me bindgda 1¢ Marija abéeakoli libat nwehel Embedded infinitive

me bi- noégdalé Marija a- 6¢é pro; a- koli  (li)- bat nwehel

I  PST2-feel that Mary.cl SM.c1-be.PST pro SM.c1-should INF.c5-ask apology.c9
‘I felt that Mary should have apologized’

A26a’) Ok me bindgda 1¢ Marija abéeakoli libat nwehel =~ Embedded declarative

me bi- nogdalé Marija a- bé pro; a- koli 1& pro &- bat

I PST2-feel that Mary.cl SM.cl-be.PST pro SM.c1-should that pro SM.c1-ask.SBJV

nwehel

apology.c9

‘I felt that Mary should have apologized’
b) I felt my muscles relax(ing).

A26b’) Ok me bindgda minson mi ninimbla mé
me bi- nodgda minson mi  n-nimbla mé
I  PST2-feel muscles.c4 SM.c4-PROG-relax/strech me

‘I felft my muscles relax(ing).

A26b’’) Ok me binogda kikii minson mi inimbla mé
me bi- nogda kikii minson = mi  n-nimbla mé
I PST2-feel as muscles.c4 SM.c4-PROG-relax/strech me

‘I felft my muscles relax(ing). Lit: ‘I felt as my muscles were relaxing’
c) After the injection, the patient’s muscles were felt relaxing.

Ok imblis ndondoy minson mi nkokdn mibée minnimbla

imbls ndondoy  minson  mi pkokdn mi- bBée mi- 1n-  nimbla

after injection.c7 muscles.c4 CONN patient.cl SM.c1-be.PST SM.c4-PROG-relax

‘After the injection, the patient’s muscles were relaxing.’

Note: (A26¢) is ? for many English speakers, but with just relax, it is * for most, but many
accept it with fo relax. If there are variations of this kind in your language, please add
commentary and illustrative examples).

A27a) The news that John was guilty was surprising.

A27a’) i nan Gnu 1€ Johanes abikwo nkaa 16ée hélha

i parg una  1¢ Johanes a-  bi- kwonpkda G- bée hélha

AUG news.c3 that.c3 that John.cl SMc1-PST2-fail trial.c3 SM.c3-be.PST surprise.cl

‘The news that John was guilty was surprising (Lit: was a surprise)’

A27a’”) nap Gnu 1¢ Johanes abée hihoha ubée hélha

i NEN) uni  l¢ Johanes a-  6ée  hihoha u- bée  hélha

AUG news.c3 that.c3 that John.cl SMc1-be.PST fault.c19 SM.c3-be.PST surprise.cl

‘The news that John was guilty was surprising (Lit: was a surprise)’

A27a’’) han anu 1€ Johanes abée hihoha 1bée inhélha

i pag uni  l¢ Johanes a- bée  hihoha u- bée U -

AUG news.c3 that.c3 that John.cl SMc1-be.PST fault.c19 SM.c3-be.PST SM.c3-PROG-
hélha

surprise

‘The news that John was guilty was surprising (Lit: was surprising)’

Comments: Note that in although the same form is used for both the adjective and verbal forms delineated

above, in (A27a’”"), a progressive form is used (i.e. the verb hélha ‘surprise’ is combined with the

progressive aspectual morpheme #-) while in (A27a’-A27a’’), a nominal adjectival form Aélha
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‘surprising’ is used.

b) The knowledge that he had made Mary uncomfortable bothered him.
A27b) lini 1¢ abihotha Marija ném libiteenga ny¢
lini 1&¢ proia-  bi- hot-ba Marija pém  li- bi- teenga nyé
this.c5 that pro SM.c1-PST2-afflict-CAUS Mary.cl heart.c3 SM.c5 PST2-bother him.cl
‘The fact that he made Mary uncomfortable (made Mary afflicted) bothered him.’
A27b’’)* ini ji 1€ abihdtha Mérija ném libiteenga nyé

ini ji 1¢  proj aj- bi-  hoét-ha Marija ném i- bi- teenga
this.c7 knowledge.c7 that pro SM.c1-PST2-afflict-CAUS Mary.cl heart.c3 SM.c7-PST2-bother
nyé

him.cl

c¢) The scientists had to accept the fact their prediction was wrong.
A27¢’) Ok bajénmam 646¢ lama néb¢ 1€ mahegek map mabée 6 mbale
bajén mam  ba- b€ lama  nébé 1€ mahegek map  ma-
researchers.c2 things.c6 SM.c2-be.PST have to accept that predictions.c6 their.c6 SM.c6-
bée  b6¢ mbale
be.PST NEG truth.c9
‘The scientists had to accept that their prediction was wrong’.

r1r r 1L

bajén mam  Ba-  Bé lama nébé lini (d3am) 1¢ mahegek
researchers.c2 things.c6 SM.c2-be.PST have to accept this.c5 fact.c5 that predictions.c6
map ma- bée 6¢ mbale

their.c5 SM.c6-be.PST NEG truth.c9

‘The scientists had to accept (the fact) that their prediction was wrong’.

Note that the noun dszam ‘fact/thing’ in (A27¢’’) can undergo ellipsis without the sentence being
ungrammatical.

d) Mary’s announcement that she was pregnant was the reason that John was late.

A27d”) Ok ngan Marija 1€ abée dz¢m i-6¢ kobla 1¢ Johanes a-bi-s6g Not ambiguous

ngan (i)  Marija; 1€ pro;a- bée  dzém i- 6é kobla 1¢ Johanes news.c7
PREP Mary.cl that pro SM-c1-be.PST pregnancy.c6 SM.c7-be.PST mean that John.cl
a- bi- sbg

SM.c1-PST2-be late/come late
‘Mary’s announcement that she was pregnant was the reason that John was late’.
A27d’”) Ok ngan (i) d3eém (i) Marija i-6¢ kobla 1¢ Johanes a-bi-sog

pgan (i)  dzém (i)  Marija; 1¢ pro; a- bée  i- bé kobla 1¢
news.c7 PREP pregnancy.c6 PREP Mary.cl that pro SM-c1-be.PST SM.c7-be.PST mean that
Johanes a- bi-  sog

John.cl SM.c1-PST2-be late/come late

Comments: In (A27d’), Mary announced herself that she was pregnant. On the contrary, in (A27d’"), two
meaning are possible: (i) either ‘Mary announced herself that she was pregnant’, (i) or ‘somebody else
announced Mary’s pregnancy’.

e) The claim that no one knew about the scandal is difficult to believe.

Ok lini (d3am) 1¢ tomut abiji 6¢ i mbuye dzam ibitabe linled lindg

lini (d3am) l¢ tomut a- bi- ji b6¢ 1 mbuye dzam  i-
this.c5 thing.c5 that nobody.cl SM.c1-PST2-know NEG AUG incredible.c7 thing.c7 SM.c9-
bi- tabe  li- n- led (li)-  nébe

PST2-happen SM.c5-PRS-be difficult INF.c5-believe
‘The claim that no one knew about the scandal is difficult to believe’
f) The only reason to do this properly is so that we can avoid a lawsuit.
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Ok pdm d3¢l (injut) (li)j1 liboy hala i ye 1¢ di nla sémbba nkaa

pdm dzél  (injuu) li- ji ~ (i)-  bon halai- ye l¢ di n- la sémbba
unique.c7 way.c7 for INF.c5-know INF-c5-do so SM.c5-be. PRS that we PRS-can avoid
pkaa

lawsuit.c3

‘The only way to do this properly is that we can avoid a suitcase’

g) John was the one who proposed the plan to rob the bank.

A27a’) Ok Johanes nyén abiti mahdn3l 1€ 64 nibil litéédana li pkus  Focus

Johanesinyé- n  proj a- bi ti  mahdndl l¢ 6a nib-il  litéédana li pkus
John.cl AGR.c1-FOC pro SM.c1-PST2-give proposals.c6 that INDF rob-APPL bank

‘John is the one who proposed that they should rob the bank/It is John who proposed that they should rob
the bank.’

A27a’) Ok Johanes a ye gwét (na) abiti mahdn3l 1¢ 64 nibil litéédana li pkus  Relative

Johanes; a- ye nwét (md)  pro; a- bi- ti  mahdnsl l¢ ba
John.cl SM.c1-be.PRS the one.cl REL.c1 pro SM.c1-PST2-give proposals.c6 that INDF
nib-il litéédana 1i gkus

rob-APPL bank
‘John is the one who proposed that they should rob the bank’

h) John rewarded the man who Bill saw.
A27h’) Ok Johanes abiti i mut (ni) Biloy abitéhé nsaa
Johanes a- bi- ti i mut (na)  Bilong  a- bi-  téhé nsaa
John.cl SM.c1-PST2-give AUG person.cl REL.cl Bilon.cl SM.c1-PST2-see reward.c3
‘John rewarded the man who Bilon saw’ Lit: ‘John gave a reward to the man who Biloy saw’
A27h’’) Ok Johanes abisd i mut (nii) Bilén abitéhé
Johanes a- bi- sa i  mut (nd)  Bilég a- bi- téhé
John.cl SM.cl-PST2-reward AUG person.cl REL.c1 Biléng.cl SM.c1-PST2-see

‘John rewarded the man who Bill saw’
A28a) The soldiers are afraid that the president will be ashamed of them.
Ok bad3o gwet bankon wani 1¢ nane agad wd 63 put
badzo gwet ba- 1f- kon wdnilé pane a- ga  wd b puu
fighters.c2 war.c8 SM.c2-PRS-be ill fear that president.cl SM.c1-FUT2-die them.c2 body.c9
‘The wariors are afraid that the president will be ashamed of them’

b) The soldiers are afraid to admit that they ran.

Ok bad3o gwet bankon wani linébe 1¢ babike ngwéé
[bad3o gwet]i 6a- - kon wdni li- nébe 1¢ pro; ba-  bi- ke ngwéé
fighters.c2 war.c8 SM.c2-PRS-be ill fear.c3 INF.c5-admit that pro SM.c2-PST2-go race.c3
‘The warriors are afraid to admit that they ran.’
A29a) Cleopatra regrets that she trusted Caesar.
A29a’) Ok Marija antam kikii abi66dol Johanes ném
Marijai a- n- tam kikii pro; a- bi-  60dol Johanes ném
Mary.cl SM.c1-PRS-regret as pro SM.c1-PST2-trust John.cl heart.c3
‘Mary regrets that she trusted John’Lit: ‘Mary regrets as she trusted John.’
A292a’’) Ok Marija antam 1¢ abib6dol Johanes ném
Marija; a- n- tam 1€ pro;a- bi-  60dol Johanes ném

Mary.cl SM.c1-PRS-regret that pro SM.c1-PST2-trust John.cl heart.c3
‘Mary regrets that she trusted John’Lit: ‘Mary regrets as she trusted John.’

b) Cleopatra regretted to tell Caesar the bad news. (?? for many English speakers)

A29a’) Ok Marija abitdm lileyel Johdnes nwin imbé Ambiguous
Marija a- bi- tam li- leyel Johdnes npwin  imbé
Mary.cl SM.c1-PST2-regret INF.c5-announce John.cl news.c3 bad.c3
Lit: ‘Mary regretted to have told John the bad news (she did tell him the bad news)’ OR ‘Mary regretted
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the fact that she did not tell John the bad news (so, she did not tell him the bad news)’

A29a’’) Marija abitam l¢/kikii abileyél JOhanes nwin imb¢  unambiguous
Marija; a- bi- tam  1& /kikii pro; a- bi-  leyél  Johanesywin  imbé
Mary.cl SM.c1-PST2-regret that/as pro SM.c1-PST2-announce John.c1 news.c3 dad.c3
‘Mary regretted that she told John the bad news.’
A30a) The cat liked (it) that his master always gave him treats to eat.
A30a’) Ok) singi ibigwés (hala) kikii nsan wée abéeanti ny¢ makénd lid[ /€ hikii ngeda
singi i- bi- gwés (hala) kikii [nsan wéeli a- bée pro; a- n- ti
cat.c9 SM.c9-PST2-like it as master.cl its.cl SM.c1-be.PST pro SM.c1-PROG-give
yd makénd  li-d[)€ hikii ngeda
it.cl courage.c6 INF.c5-eat each time.c9
‘The cat liked (it) that his master encourage him to eat each time.’
A30a’") Ok singi ibée ingwés (hala) kikii nsan wée abéeanti nyé¢ makénd lid[ /€ hikii ngeda
singl; i- bée- pro;i- - gwés (hala) kikii [nsap wée); a- bée  pro;
cat.c9 SM.c9-be.PST pro SM.c9-PROG like it as master.cl its.cl SM.c1-be.PST pro
a- n- ti yd> makénd hikii ngeda
SM.c1-PROG-give it.c9 courage.c6 each time.c9
‘The cat liked (it) that his master encouraged him to eat each time.’
b) The cat liked to eat treats.
Ok singi in gwes indz¢ bidzék bilam
singi; 1- n-  gweés pro i- n- dz¢ bidzék bilam
cat.c9 SM.c9-PRS-like pro SM.c9-PROG-eat food.c8 nice.c8
‘The cat likes to eat/eating nice food’
c) The cat likes (for) his master to pet him.
A30b’) *singi ingwés 1nJuu nsan wég lisinga yo
singl i- - gwes injul nsan weéeé  li- singa yo
cat.c9 SM.c9-PRS-like for master.cl its.c9 INF.c5-pet it.c9
A30b’’) Ok singi njgwes 1¢ nsarn asinga yo
singl i- n- gwéslé nsan wée  a- singd  yo
cat.c9 SM.c9-PRS-like that master.cl its.c9 SM.c1-pet.SBJ it.c9
Lit: ‘The cat likes that his father should pet him.’
A30b’"") Ok singi ingwés (i ngeda) nsan wéé ansinga y3
sipgl i- n- gweés (i ngeda) nsapg wée  a- singa v
cat.c9 SM.c9-PRS-like LOC time.c7 master.cl its.c9 SM.cl-pet.SBJV it.c9
‘The cat likes when his father pets him.’
A31a) We fear that the police do not regret their mistake.
Ok di njdddp 1€ ngdmin antdm 6&¢ hihoha hji¢é
di n- joddplé ngdmin a- n- tdm 6é¢ hihoha hjiéé
we PRS-fear that authority.cl SM.c1-PRS-regret NEG mistake.c19 his.c19
‘We fear that the police do not regret their mistake’
b) Refugees fear to speak to the press. (* in English)
Ok) bake ngwéé (1) gwét bankon wani lipodds batfam minan

bake pgwéé (G) gwét b6a- - kon wdni li-pod-os batfam minar

goers.c2 race.c3 CONN war.c8 SM.c2-PRS-be ill fear.c3 INF.c5-speak-APPL journalists.c2
‘Refugees fear to speak to the journalists’

A32a) We are ashamed that we did not help the children to leave.

Ok) di gwd njun 1€ dibihola 6¢éé 63dngé linodi
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di B- wd njua 1€ di-bi- hoélabéé 63ongé  li- nodi
we PRS-die body.c9 that we PST2-help NEG children.c2 INF.c5-leave
‘We are ashamed that we did not help the children to leave.’
b) The businessman was ashamed to talk to his customers.
A32b’) Ok mut punga abiwd paua (1i)poddds basdmb
mut nunga  a- bi-  wdnua (1)-  pod-os basdmb
person.cl trade.c9 SM.c1-PST2-die body.c9 INF.c5-speak-APPL buyers.c2
‘The trader was ashamed to talk to his customers.’
A32b’’) Ok mut punga abéwd nat (1))pddos basdmb
mut nunga a- 6¢ wd nuu (li)- pod-6s basdmb
person.cl trade.c9 SM.c1-be.PST-die body.c9 INF.c5-speak-APPL buyers.c2
‘The trader was ashamed to talk to his customers.’
A33a) We are embarrassed that our president went fishing when the war began.
Ok) di bihél 1¢ nane wés abike i 15p i ngeda gwet bibibodol
di bi- hél l¢ nane wés a- bi- ke i 13p i ngeda
we PST2-embarrass that president.c1 our.cl SM.c1-PST2-go LOC fishing.c3 LOC time.c9
gwet bi-  bi- bodol
war.c8 SM.c8-PST2-start
‘We are embarrassed that our president went fishing when the war began’
b) We are embarrassed to ask for a favor.
Ok di ye nhélék libat we mahola
di ye nhélek li- bat we mahola
we be.PRS embarrassed INF.c5-ask you help/favor.c6
‘We are embarrassed to ask you for a favor.’
A34a) The fans rejoiced that their team was successful.
A34a’) Ok basinge nton (1) gwét babée maséé 1€ ntdn wap tbibeEp

basinge ntéon (1) gwét ba- bHée  maséé ¢ ntény wap U- bi-  bép
fans.c2 team.c3 CONN war.c8 SM.c2-be.PST happiness that team.c3 their.c3 SM.c3-PST2-win
gwét

war.c8

‘The fans rejoiced that their army was successful/won the war’
A34a’’) Ok basinge ntdn (1) gwét babisée 1€ ntdén wap ubibép

basinge ntoyy (1) gwét ba-  bi-séé 1€ ntéy wap O- bi-  b6&p
fans.c2 team.c3 CONN war.c8 SM.c2-PST2-celebrate that team.c3 their.c3 SM.c3-PST2-win
gwét

war.c8

‘The fans rejoiced/celebrated that their army was successful/won the war’
b) The fans celebrated their team being successful.

A34b’) Ok basinge nton (1) gwét babée maséé 1¢ ntoén wap ubibep

basinge nton  (0) gwét ba- bBée maséé 1¢ ntony wap u- bi-  bép
fans.c2 team.c3 CONN war.c8 SM.c2-be.PST happiness that team.c3 their.c3 SM.c3-PST2-win
gwét

war.c8

‘The fans celebrated their army being successful/winning the war’
A34b’’) Ok basinge nton (0) gwét babisée 1€ nton wap ubibep

basinge ntéon (1) gwét ba-  bi- séé l¢é ntoy wap u- bi-  bép
fans.c2 team.c3 CONN war.c8 SM.c2-PST2-celebrate that team.c3 their.c3 SM.c3-PST2-win
gwét

war.c8

‘The fans celebrated that their army was successful/celebrated their army winning the war’
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A35a) The authorities were surprised that the new law was popular.
Ok) baane 6abihél 1¢ mbén jond? injifa ngandak
baane ba-  bi- hél l¢ mbén jondd i- - ji- P& pgandak
authorities.c2 SM.c2-PST2-surprise that law.c9 new.c9 SM.c9-COMPL-know-PASS much
‘The authorities were surprised that the new law was popular’ Lit: ‘The authorities were surprised that the
new law was widely known.’

b) That the new law was popular was surprising.
A35b”) Ok 1¢ mbén jond) inbijifa ngandak (hala) a-6ée-hélha
l¢ mbén jondd i- bi- ji- pa  pgandak,(hala) a- bée-  hélha (dzam)
that law.c9 new.c9 SM.c9-PST2-know-PASS much (that) SM.c1-be.PST surprise.cl thing.c5
‘That /the fact that the new law became popular was surprising.’
A35b’”) Ok 1¢ mbén jond? inbijifa ngandak (hala) a-6ée-hélha
lini (dzam) l¢ mbén jondd i- bi- ji- P4  pgandak, li- bée hélha
this.c5 thing.c5 that law.c9 new.c9 SM.c9-PST2-know-PASS much  SM.c5 be.PST surprise.cl
‘That/the fact that the new law became popular was surprising.’

¢) It was surprising (to us) that the new law was popular.
A35c¢’) Ok (hala abée) hélha (dzam) 1¢ mbén jond? ibijifa ngandak
(hala a- b6ée) hélha  (dzam) 1¢ mbén jondd i- bi- ji- pa pgandak
that.cl SM.c1-be.PST surprise.cl thing.c5 that law.c9 new.c9 SM.c9-PST2-know-PASS much
‘It was surprising (to people) that the new law was popular’
A35¢’”) Ok hala abi hélés 66t/6és 1¢ mbén jond? ibijifa ngandak
hala a- bi- hélés  Bot/bés ¢ mbén jondd i- bi- ji- pa
that.cl SM.c1-PST2-surprise people.c2/us that law.c9 new.c9 SM.c9-PST2-know-PASS much
‘It was surprising (to people) that the new law was popular’/That surprised people/us that the new law
was popular’.
A36a) That the judge remembered the death sentences was upsetting (to us).
A36a’) Ok I¢ gkés abihdndl mbagi mpena (hala) abikwénd-ha bés
1¢  nkés a- bi-  hdndl mbagi  mpend  (hala) a- bi-kwénd-ha
that judge.cl SM.c1-PST2-remember verdict.c9 hanging.c3 that.cl SM.c1-PST2-upset-CAUS

(6€s)
us
‘That the judge remembered the death sentences was upsetting (to us)’.
A36a’”) Ok lini d3am I¢ nkés abihdnsl mbagi mpena libikwénd-ha bés
lini  (dzam) 1lé¢ pkés a- bi-  hdnsl mbagi  mpend  li- bi-
this.c5 thing.c5 that judge.cl SM.c1-PST2-remember verdict.c9 hanging.c3 SM.c5-PST2-
kwénd-ha  (H6€s)
upset-CAUS us
‘That the judge remembered the death sentences was upsetting (to us)’.

b) It was upsetting (to us) that the judge remembered the death sentences.
A36b”) Ok hala abée dzam li (Ii)nkwéndha 1¢/kikii nkés abihdndl mbagi mpend Relative clause
hala a- bée  dzam (1) li- n- kwénd-ha 1é/kikii nkés a- bi-
that.cl SM.c1-be.PST thing.c5 REL.c5 SM.c5-PRS-upset-CAUS that/as judge.cl SM.c1-PST2- hansl
mbagi  mpena
remember verdict.c9 hanging.c3
‘It was (something) upsetting (to us/people) that the judge remembered the death sentence.’
A36b’”) Ok hala abikwéndés bés 1¢ nkés abihdndl mbagi mpena
hala a- bi- kwéndés bés 1¢/kikii nkés a- bi-  hdnil mbagi mpena
that.cl SM.c1-PST2-upset  us that/as judge.cl SM.c1-PST2-remember verdict.c9 hanging.c3

‘It upset us that the judge remembered the death sentences.’

c) It is upsetting to see poverty.
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A36¢”) Ok (litéhé) liyép liyé dzam (1i) ligkwéndha
(li-tehé) liyép li-  yé dzam  (li) li 9-kwénd-ha
INF.c5-see poverty.c5 SM.c5-be.PRS thing.c5 REL.c5 SM.c5-PRS-upset-CAUS
‘To see poverty is something upsetting’Lit: To see poverty is something that upsets’
A36a’’) Ok hala aye dzam (li) linkwéndha litehé liyép
hala a- ye dzam (li) li-  9- kwénhali-teheé  liyép
that.cl SM.c1-be.PRS thing.c5 REL.c5 SM.c5-PRS-upset INFc-see poverty.c5
‘It is upsetting to see poverty’.
A36a’"’’) Ok hala aye dzam (li) lipkwéndha litehé liyép
hala a- ye dzam (li) li- - kwénhalé li-tehé liyép
that.cl SM.c1-be.PRS thing.c5 REL.c5 SM.c5-PRS-upset that INFc-see poverty.c5
‘It is upsetting to see poverty’.Lit: It is something upsetting that to see poverty.’
A37a) Cats are hard to train.
Ok singi inlet liniiya
sipgi  i- n- let li- niiya
cats.c10 SM.c10-PRS-be.hard INF.c5-teach/train
‘Cats are hard to train’
b) It is hard to train cats.

Ok liniiya singi linlet
li- nifya singl  li- n- let
INF.c5-teach/train cats.c10 SM.c5-PRS-be hard
“To train cats/training cats is hard.’
¢) It is hard for us to train cats.
Ok liniiya singi linledél b6és
li- nilya singl  li- n-  led-¢l b6€s
INF.c5-teach/train cats.c10 SM.c5-PRS-be hard-APPL us
‘To train cats/training cats is hard for us.’
d) Cats are hard for us to train.
Ok singi inledél bés liniiya
sipgi  i- n- led-él b6€s li-niiya
cats.c10 SM.c10-PRS-be hard-CAUS us INF.c5-train/teach
‘Cats are hard for us to train’.
A38a) This person is worth talking to.
A38’) Ok i mut nuna akoli 1¢ 6a pddos nyé
i mut  nind  a-koli 1€ 64  pdd-0s nyé
AUG man.cl1 this.cl SM.cl-deserve.PRS that INDF talk.SBJV-APPL him.c1
“This man is worth talking to.’
A38’’) Ok 1 mut nuntl akoli ni mapddha
i mut nuna a-koli ni mapddha
AUG man.cl this.cl SM.cl-deserve.PRS CONN talk.c6
‘This man is worth talking to’
b) It is worth talking to this person.
*1 koli lip6dds 1 mut nina
i koli li-pod- 06s i mut  nuna
EXPL deserve/suffice.PRS INF.c5-talk-APPL AUG man.c1 this.cl
A39a) Paul was probably able to do this.
A39a’) Ok) 6¢bek nidu abée 1€ a(14)65n hala
bebEk  nudu; a- bée 1¢ proja- (14  B63nhala
probably student.cl SM.c1-be.PST that pro SM.cl-(can) do that
‘The student was probably able to do this’
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A39a’’) Ok) 6¢bek nada abée la abdny hala
6ebek  pudl; a- bée la  bon hala
probably student.cl SM.c1-be.PST that do that
‘The student was probably able to do this’
b) Paul is probably capable of reading that’.
A39b’) Ok 6¢6¢k nuduaye 1¢ a(la) an kaat
6ebek  nudd; a- ye 1¢ pro a- (1) an kaat
probably student.cl SM.c1-be.PRS that pro SM.c1-can read book.c7
‘The students is probably capable of reading the book.’
A39’) * piidu aye b6¢6€k 1€ a(la) an kaat
pudt;  a- ye 6ébsk 1€  pro a- (13) an  kaat
student.c1 SM.c1-be.PRS probably that pro SM.c1-can read book.c7
A39’’) pudu aye t3j 1€  a(1a) an kaat
nadd; a- ye t3j 1¢ pro; a- (14) an  kaat
student.cl SM.c1-be.PRS certainly that pro SM.c1-can read book.c7
‘The student is certainly capable of reading the book.’
Comments: Note that the adverb 6¢6¢k ‘probably’ cannot occur in sentence medial position (A39°’). On
the contrary, its counterpart £Jj ‘certainly’ can occur in that position (A39°").
¢) Paul is proud of being able to do this.
A39c¢’) Ok nudu a ye maséé libor hala
puda a- ye maséé li- bon hala
student.c1 SM.c1-be.PRS pride/joy.c6 INF.c5-do that
‘The student is proud of doing that’
A39¢’’)Ok nadua a ye maséé libon hala
puda a- ye maséé li- la bon hala
student.cl SM.c1-be.PRS pride/joy.c6 INF.c5-can do that
“The student is proud of being able to do that’
A40a) The judge denied that anyone had committed a crime.
A40a”) OK pkés abitar 1¢ tondzée abéeabn 6éPa dzam
nkés a- bi- tdn 1€ tondzéé; a- Hée pro; a- B3 6éEPBA dzam
Judge.cl SM.c1-PST2-deny that anyone SM.c1-be.PST3 pro SM.cl-do evil thing.c5
‘The judge denied that anyone had commited a crime’ Lit: The judge denied that anyone had done
evil’
A40a’’) nkés abitan 1¢ tondzéé abéeabdn 6EBA dzam
nkés a- bi- tan 1¢ tondzéé a- bi- bon 6éBa dzam
judge.cl SM.c1-PST2-deny that anyone SM.cl1-PST-do evil thing.c5
‘The judge denied that anyone had commited a crime’ Lit: The judge denied that anyone had done
evil’
b) The judge denied anyone to commit a crime. (* in English)
* pkés abitan tondzé€ libony 6EP4a dzam
nkés  a- bi- tan tondzes li- Hoy 6B dzam
judge.cl SM.c1-PST2-deny anyone.cl INF.c5-do evil thing.c5
c) It was denied that anyone had committed a crime.
A40c’) Ok ibiténa 1¢ tondze¢ abée abdn 6ePa dzam
i- bi- tén- & l¢ tondzée a- bée pro; a- 63n 6éPa dzam
EXPL PST2-deny-PASS that anyone.cl SM.cl-be.PST3 pro SM.cl-do evil thing.c5
‘It was denied that anyone had committed a crime’ Lit: It was denied that anyone had done evil’
Adc’’) Ok ibiténa 1¢ tondzéé; a bi- by 6EPa dzam
i- bi- tén-a l¢ tondzéé; abi- bay 6éBa dzam
EXPL PST2-deny-PASS that anyone.cl SM.c1-PST2-do evil thing.c5
A41a) The prosecutor doubted that the prisoner had any money.
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A4la’) Ok pkés abipeena l¢ mut moy abéena moni

pkeés a- bi- peena 1¢ mut moy a- bée-na moni
prosecutor.cl SM.c1-PST2-doubt that man.c1 prison.c4 SM.c1-have.PST3-ASP money
‘The prosecutor doubted that the prisoner had any money.’
A4la’’) Ok pkés abipeena 1¢ mut moy abée agweé moni
nkés a- bi- peena 1¢ mut moy a- bée pro a-gweé moni
prosecutor.cl SM.c1-PST2-doubt that man.cl prison.c4 SM.c1-be-PST3-have.ASP money.c4
“The prosecutor doubted that the prisoner had any money.’ Lit: ‘The prosecutor doubted that prisoner was
having any money’
b) The prosecutor doubted the prisoner to have any money. (* in English)
OK (see translation and comments below) pkés abipeend mut moy 1ibana moni
pkeés a- bi- peend mut moy injua li- band moni
prosecutor.cl SM.c1-PST2-doubt man.cl prison.c4 for INF.c5-have money.c4
Lit:“The prosecutor doubted the prisoner in order to have money.
Comments: Note that the preceding sentence does not convey the meaning of the sample English sentence
as can be seen from the literal translation. The idea here is that ‘in order to make money, the prosecutor
had to doubt the prisoner’.
Ad42a) You remembered that I hate to eat fish.
A42a’)Ok u bihdn3l 1€ me fnoo lidzé tfopi
u bi-  hdnsl lé men- noo li- dzé tfopi
you.2SG PST2-remember that I PRS-hate INF.c5-eat fish.c12
“You remembered that [ hate to eat fish’
b) The girls remembered to get the cows ready.
A42b”) Ok bingond bibihdn3l likooba Pizek
bingond bi-  bi-  hdndl li- kooba Bizek
girls.c8 SM.c8-PST2-remember INF.c5-prepare/get ready food.c8
“The girls remembered to get the food ready’
A42b’") Ok bingond bibihdnsl libana Pizek bebee
bipgond bi-  bi-  hdnsl li-libana Bizek bebee
girls.c8 SM.c8-PST2-remember INF.c5-have/get food.c8 ready
“The girls remembered to get the food ready’
¢) The men remember crossing the river when it was flooded.
A42¢”) booldém Banhdnl liyap 1&p ingeda ubée uhol Embedded infinitive
boolom ba- 1-  hdndl li- yap [ép; i ngeda pro; u- bée pro;
men.c2 SM.c2-PRS-think about INF.c5-cross river.c3 LOC time.c7 pro SM.c3-be.PST3-be pro
u- hol
SM.c3-flood/raise
‘The men remember crossing the river when it was flooded’
A42¢”’) Booldom banhdnsl mayap ma 1ép ingeda G 6ée uhdl Nominalization of liyap ‘cross’

boolom ba- 1n-  hanil mayap ma 1ép; i ngeda pro; G- bée
men.c2 SM.c2-PRS-remember crossing.c6 PREP river.c3 LOC time.c7 pro SM.c3-be.PST3
prou- hol

pro SM.c3-flood/raise

‘The men remember the crossing of the river when it was flooded.’

A42¢”’) Ok boolom banhdnsl Kikii b4 6ée banyap 1&p ingeda 16ée uhdl Embedded declarative
Boolom 6a-  H- hdnsl kikii 6a-  Bée ba- n- yap 1ép; i ngeda
men.c2 SM.c2-PRS-remember as  SM.c2-be.PST3-SM.c2-ASP-cross river.c3 LOC time.c7
proi  u- bée pro; u- hol

pro  SM.c3-be.PST3 pro SM.c3-flood/raise

‘The men remember crossing the river when it was flooded’ Lit: ‘The men remember as they were
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crossing the river when it was flooded.’
d) The dog remembered what we taught him.
Ok ngw? ibihdndl kii/iydm di biniiya y5
ngwo  i- bi- hdnil kii/ i yom  di bi- niiya y5
dog.c9 SM.c9-PST2-remember what.9/ AUG thing.c7 we PST2-teach it.c9
‘The dog remembered what we taught it.’
e) The girls will remember what to feed the cows
A42¢’) Ok bingond bigahdn3l kii/i ydm bagadsés pjaga  declarative sentence
bingond; bi-  ga- hdndl kii/ i ydm  projbi-  ga- dzé-s njaga
girls.c8 SM.c8-FUT2-remember what.c9 AUG thing.c7 pro SM.c8-FUT2-eat-CAUS cows.c10
‘The girls will remember what to feed the cows.’
A42¢’’) Ok bingond bigahdnal kii (injuu) 1izés pjaga In-situ wh-question followed by an infinitive
bingondbi-  ga- hdndl kii (injua)li dzé-s njaga
girls.c8 SM.c8-FUT2-remember what.c9 for/in order to INF.c5-eat-CAUS cows.c10
‘What will the girls remember in order to feed the cows?.’
Comments: Only (A42¢’) corresponds to the sample English sentence ‘the girls will remember what to
feed the cows.” Sentence (A42e’’) on the contrary is an interrogative sentence which does not correspond
to the sample sentence given above.
A43a) | imagined that I could do anything.
Ok me bihegda 1¢ me bée 1¢ me (14) 651 tokii
me bi- hegda 1¢ me bée 1€ me (1a) 65y tokii
I PST2-imagine that I be.PST2 that I could/can do anything
‘I imagined that I could do anything.’
b) I imagined to be a millionaire. (* in English).
Ok me bihegda 1i6a nwan miit
me bi- hegda 1i-6a pwar mat
I PST2-imagine INF.c5-be rich man.cl
“*] imagined to be a rich man.’
Would ‘I imagined being a rich man’ be a better translation?
c¢) I imagined winning the lottery.
Ok me bihegda lid3é pemsan
me bi- hegda li- dz¢ pemsan
I PST2-imagine INF.c5-eat competition.c9
‘I imagined winning the competition.’
NB: Note that the verb d3¢ in the preceding sentence is used idiomatically/metaphorically. In the
language lids¢ libondo for instance means ‘to win the cup’.
d) I can imagine what they will ask me to do.
A403d’) Ok me nla hégda kii/iydm bagabat mé libon
men- la hégdad kii/ i ydm  ba- ga-  bat mé li-bay
I PRS-can imagine what.c9/AUG thing.c7 they FUT2-ask me INF.c5-do
‘I can imagine what they will ask me to do.’
A403d’’) Ok me nla hégda kii/iydm bagabat (mé) 1€ mé 631
men- la hégdad kii/ i ydm  ba- ga-  bBat mé 1€ mé by
I PRS-can imagine what.c9/AUG thing.c7 they FUT2-ask me thatI do.SBJV
‘I can imagine what they will ask that I should me to do.’
A44a) John reminded the students that they should read chapter 2.
Ad44a’) Ok Johanes abihdnlaha 6audh 1€ baay pes ibaa
Johanes a- bi- hogla-ha bandu; l¢ proba- ang pes ibaa
John.cl SM.c1-PST2-remind-CAUS students.c2 that pro SM.c2-read.SBJV chapter.c7 two.c7
‘John reminded the students that they should read chapter 2’
Ad4a’’) Ok Johanes abihonlaha baada 1€ banlama an pés ibaa

28



Johanes a bi-  hoénla-ha bauda l¢ proba- n- lama an pés ibaa
John.cl SM.c1-PST2-remind-CAUS students.c2 that pro SM.c2-PRS-should read chap.c7 two.c7
‘John reminded the students that they should read chapter 2’
b) John reminded the students to read chapter 2.
A44b’) Ok Johanes abihonlaha baadu lidn pes ibaa
Johénes a- bi-  hopla- ha baudu li-ag pes ibaa
John.cl SM.c1-PST2-remind-CAUS students.c2 INF.c5-read chapter.c7 two.c7
‘John reminded the students to read chapter 2°.
Comments: Sentences (A44a’) and (A44a’’) above, repeated below as (A44b’’|) and (A44b’’’), also
correspond to the sample sentence given in (A44b) i.e. ‘John reminded the students to read chapter 2.
A44b°’) Ok Johanes abihénlaha 6auda 1€ baan pes ibaa
Johanes a- bi- hoénla-ha baudu; l¢ probai- ag pes ibaa
John.cl SM.c1-PST2-remind-CAUS students.c2 that pro SM.c2-read.SBJV chapter.c7 two.c7
‘John reminded the students that they should read chapter 2’
A44b’’") Ok Johanes abihonlaha bandu 1€ banlama an pés ibaa
Johénes a bi-  honla-ha baudy; l¢ projba- n- lama ag pés ibaa
John.cl SM.c1-PST2-remind-CAUS students.c2 that pro SM.c2-PRS-should read chap.c7 two.c7
‘John reminded the students that they should read chapter 2’
c¢) John reminded to read chapter 2. (* in English)
OK Johanes abihdn3l liany pes ibaa
Johanes a- bi-  hdpsl li- an  pes ibaa
John.c2 SM.c1-PST2-remind INF.c5-read chapter.c7 two.c7
‘John remembered to read chapter 2.’
Comment: Recall that in Basaa, the same verb 455! correspond to the English verbs ‘think’, ‘remember’
and ‘remind’.
d) The students were reminded that they should read chapter 2.
A444d’) Ok b4 bihopglaha 6atdu 1€ baan pes ibaa
64  bi- hoénla-ha banduw; l¢ proiba-  ap pes ibaa
INDF PST2-remind-CAUS students.c2 that pro SM.c2-read.SBJV chapter.c7 two.c7
‘The students were reminded that they should read chapter 2.” Lit: ‘They (indefinite) reminded the
students that they should read chapter 2.
A44d’’) Ok ba bihonlaha bauda 1¢ banlama an pés ibaa
ba  bi- hopla-ha bands; l¢é proiba- f- lama 4an pés ibaa
INDF PST2-remind-CAUS students.c2 that pro they PRS-should read chapter.c7 two.c7
‘The students were reminded that they should read chapter 2.” Lit: ‘They (indefinite) reminded
e) The students were reminded to read chapter 2.
A44d’”) Ok ba bihonlaha baundu lian pés ibaa
ba  bi- honpla-ha baudu; li-an pés ibaa
INDF PST2-remind-CAUS students.c2 INF.c5-read chapter.c7 two.c7
‘The students were reminded to read chapter 2.” Lit: ‘They (indefinite) reminded the students to read
chapter 2.
[ don’t understand why this has CAUS instead of PASS.
A45a) The students read that the scout was unwilling to leave the camp.
Ok batda babian 1¢ mudaa abé gwés bé¢ nadi 1 lilémbél
batda ba- bi- 4n 1¢ mudad a- b6é gwés 6é¢  nadi i lilémbél
students.c2 SM.c2-PST2-read that woman SM.c1-be.PST3 like NEG leave LOC kitchen.c5
“The students read that the woman was unwilling to leave the kitchen.’
b) Mary wrote that she would not consider leaving the school.
Ok Marija abitila 1¢ anlabée jan linodi i suklu kikii ngim dzam
Marija; a- bi- tila 1¢ proja- n- la 6ée jog li- nodi 1 suklu  kikif
Mary.cl SM.c1-PST2-write that pro SM.c1-PRS-can NEG take INF.c5-leave LOC school.c9 as
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ngim dzam
some thing/issue/problem
‘Mary wrote that she would not consider leaving the school’.
¢) The old man mumbled that the water tasted bad, but no one understood him.
Ok mmarn mt tbihunb¢ 1¢ malép mabée manlol, ndi tomut abindgbéé né

mman mit  0- bi- hupbé 1€ malép; ma- bHée projma-  n- lal,
old.c3 man.cl SM.c3-PST2-whisper that water.c6-SM.c6-be.PST3 pro SM.c6-PROG-taste bad
ndi tomut a- bi-  ndg- B6é¢  wd

but nobody.cl SM.c1-PST2-understand NEG him.c3
‘The old man whispered that the water tasted bad, but no one understood him’.

d) The child whined that no one liked him, but we thought that he was just tired.
Ok maarngé abit[¢1€] 1€ tomut angwésbéé né, ndi di bihdnsl 1¢ a bée ndigi pwaag

maangé, a- bi-  tfélél 1€ tomut a- n- gwésbéé né, ndi di bi- hindl
child.cl1 SM.c1-PST2-whine that nobody.cl SM.c1-PRS-like NEG him.c1 but we PST2-think
1¢ proia bée ndigi  nwaag

that pro SM.c1-be.PST just/only tired.cl

‘The child whined that nobody liked him, but we tought that he was just tired.’

A46a) The conductor yelled to us that we were in danger, but we knew the train was not coming.
Ok nlig abibéglé 6és 1¢ di 6&¢ 1 6¢Pa, ndi di biji 1€ mafin abéebéé anlo

nllg a- bi- bégl-¢ bés 1¢ di 6&¢ i bépa, ndi di bi- ji 1
conductor.cl SM.c1-PST2-yell-APPL us that we be.PST LOC danger but we PST2-know that
mafin; a- bée 6é¢ pro; a- n- lo

train.cl SM.c1-be.PST NEG pro SM.c1-PROG-come
‘The conductor yelled to us that we were in danger, but we knew the train was not coming’
b) The guide yelled that we would have to leave, but no one seemed to hear what he said.
Ok punda nd3¢l abildnd 1¢ di 6¢ 1ama podi, ndi tomut abibon 6&¢ weé annog iydm abée ankal

nundandzél; a-bi-15nd le di 6¢ lam& jnodi, ndi tomut; a- bi-boy
guide.cl  SM.c1-PST2-yell that we be.PST would leave but nobody.cl SM.c1-PST2-do
b6é¢ weé pro; a n- njg i ydm pro; a- bée  pro;a- n- kal

NEG as if pro SM.c1-PRS-hear AUG thing.c7 pro SM.c1-be.PST pro SM.c1-PROG-say
‘The guide yelled that we would have to leave, but nobody seemed to hear what he said’

¢) The conductor yelled to us to get off the tracks, but we were not ready to leave.
Ok pundand3¢l abibéglé 6&s 1¢ di pddi i ndzél, ndi di 6ée 6&¢ bebee linodi
pundandzél; a-bi-bégl-¢ 6és 1¢ di nodi i ndzél, ndidi bée  bBéé
guide.cl SM.c1-PST2-yell-APPL us that we leave.SBJV LOC way.c7 but we be.PST NEG
bebee li- nodi
ready INF.c5-leave
‘The conductor yelled to us that they get off the tracks, but we were not ready to leave.’
d) The conductor yelled to get off the tracks, but we didn’t realize that he was yelling at us.
A47a) The weatherman warned us that it would rain, but we doubted that he was right.
Ok mbenge ngeda abibeh¢ b6és 1€ ndp abé lama n, ndi di bipeena 1€ abé p5t mbale

mbenge  ngedai a- bi- 6éhé béslé ndp  a- 6é lamad nd ndi di
observer.cl time.c7 SM.c1-PST2-warn us that rain.cl SM.c1-be.PST would rain but we
bi- peenalé pro;a- 6é p5t mbale

PST2-doubt that pro SM.c1 be.PST talk truth.c9
‘The weatherman warned us that it would rain, but we doubted that he was right.’

b) The weatherman warned that it would rain, but we assured fans that it would be sunny.
Ok mbenge  ngeda abibéne 1€ ndp abé lama nd, ndi di biyis bagweés
mbenge ngeda a- bi- 6éhélé ndp  a- 6é lama nd, ndidi
weather.cl time.c7 SM.c1-PST2-warn that rain.cl SM.c1-be.PST would rain but we
bi- yis bagwés ndambni hémle 1¢ hjangaa hi- ga-  b3gj
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PST2-inform lovers.c2 ball.c9 with truth.c9 that sun.c19 SM.c19-FUT2-shine
‘Theweatherman warned that it would rain, but we assured the fans that it would be sunny.’

¢) The doctor warned us to avoid the sun.
A47¢”) Ok mut matibla abibéhé 6és 1¢ dikonba hjangaa
mut matibla  a- bi- 6éhé Bésle di konba hjangaa that-clause
person.cl healing.c6 SM.c1-PST2-warn us that we avoid.SBJV sun.c19
“The doctor warned us to avoid the sun.’Lit: ‘The doctor warned us that we should avoid the sun’
A47¢’”) Ok mut matibla abibéhé 6€s 1ikonba hjangaa embedded infinitive

mut matibla a- bi-  6&hé¢ bés li- konba hjangaa
person.cl healing.c6 SM.c1-PST2-warn us INF.c5-avoid sun.c19

d) The doctor warned to avoid the sun.
* mut matibla abibéhé b6€s likonba hjangaa

mut matibla  a- bi-  6¢éhé li- koéonba hjapggaa

person.cl healing.c6 SM.c1-PST2-warn INF.c5-avoid sun.c19
A48a) That everyone was guilty was upsetting
A48a’) Ok lini (d3am) 1¢ hikii mut abée lihoha libée linkwéndha
[lini (dzam) 1¢ hikii mut a- bée lihoha]; li- 6ée  pro; li- p-
this.c5 thing.c5 that every person.cl SM.c1-be.PST fault.c5 SM.c5.be.PST pro SM.c5-PROG
kwénd-ha
upset-CAUS
‘The fact that everyone was guilty was upsetting’
A48a’) 1€ hikii mut abée lihoha libée lipkwéndha
[l¢  hikii mut a- bée lihoha];, hala; a- bée pro a -
that every person.cl SM.c1-be.PST fault.c5 that.cl SM.cl-be.PST pro SM.c1-PROG-
kwénd-ha
CAUS-upset
‘That everyone was guilty was upsetting’

b) To eat meat would be upsetting.Ok J
A48b’) Ok lidz¢ nlamb linla 64 (1¢) lipkwéndha
[li-dz¢ nlamb]; li- n- la ba (1€) pro; li- 9- kwénd-ha
INF.c5-eat meat.c3 SM.c5-PRS-would be that pro SM.c5-PROG upset-CAUS

‘To eat meat would be upsetting’.

b) For important leaders to eat meat would upset the vegetarians.
A48b’) *injuu baane bakéni lidzé nlamb linla kwéndés bangidzé nlamb *for-sentential subject
injut baane  bakéni li- dz¢é nlamb  1i- n- la  kwéndés bangidzé nlamb
for leaders.c2 great.c2 INF.c5-eat meat.c3 SM.c5-PRS-would upset ~ vegeterians.c2
‘For important leaders to eat meat would upset vegetarians.’
A48b’’) injut baane bakéni, lidzé nlamb linla kwéndés bangidzé nlamb/wd  PP-topic reading
injutt baane  bakéni, li- dzé nlamb  li- n- la  kwéndés bangidzé nlamb/wd
for leaders.c2 great.c2 INF.c5-eat meat.c3 SM.c5-PRS-would upset ~ vegeterians.c2/it.c3
‘For important leaders, to eat meat would upset vegetarians.’
Comments: Only a topic reading is allowed as shown in (A48b’”) above. The presence of the intonational
break (represented here by a comma) triggers a PP topic reading while when dropped, the sentence
becomes illicit because a CP headed by the preposition injuu ‘for’ (in this case) cannot be a sentential
subject.
If the injuu clause is not the subject, why is the subject agreement ¢5?

c¢) To eat meat would upset the vegetarians.
Ok lid3¢ nlamb linla kwéndés bangidzé nlamb/wd Infinitive subject (0k)
li- dz¢ nlamb  li- n- la  kwéndés bangidzé nlamb/wd
INF.c5-eat meat.c3 SM.c5-PRS-would upset ~ vegeterians.c2/it.c3

‘To eat meat would upset vegetarians.’
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d) That the president leave early is important.
Ok 1¢ nkena ampulé padi (hala) aye sen
[1¢ nkena a- m- pualé  padi]i (hala) a- ye sen
that president.cl SM.c1-PRS-be early leave that.cl SM.cl-be.PRS important
‘That the president leave early is important’.
Are these really sentential subjects or another form of topic? The presence of SM.c1 seems odd here. Is
hala demonstrative here? If so, is it a resumptive of some sort?
¢) That the president has already left is important.
Ok 1¢ pkena annddi (hala) aye nser
l¢  pkena a- - nddi (hala) a- ye nsen
that president.cl SM.c1-PRS-leave that.cl SM.c1-be.PRS important
‘That the president has left is important’.
A49a) That the messenger arrive early is necessary.
Ok 1¢ nleyel win apulé 1o (hala) aye nsen
l¢ nleyel win a- pulé Io  (hala) a- ye nsen
that bearer.cl news.c3 SM.c1-be early.SBJV arrive that.cl SM.cl-be.PRS necessary
‘That the messenger leave early is important’
b) It is necessary that the messenger arrive early.
Ok (i yé) nsen (I€) nleyel win apulé 1o
@ yé) nsern (1€) nleyel ~ win a- pulé lo
EXPL be.PRS necessary that bearer.cl news.c3 SM.cl-be early.SBJV arrive
‘It is necessary that the messenger arrive early’.
c) It is necessary for the messenger to arrive early.
Ok (i yé) nsen injuu nleyel  win li puls lo
EXPL be.PRS necessary for  bearer.cl news.c3 INF.c5-be early.SBJV arrive
‘It is necessary that the messenger arrive early’.
d) It is necessary to arrive early.
Ok Ok (i yé) nsen li puls 1o
EXPL be.PRS necessary INF.c5-be early.SBJV arrive
‘It is necessary to arrive early’
Is the SBJV marked on the predicate here and not on the verb, or is it a mistake that /7 is treated like an
independent word in this example and the one before it?
e) The governor stated that it would be necessary for everyone to leave.
A49¢’) Ok ngomin abikal 1¢ i6ée nsén injut hikii mut lipodi
pgomin a- bi- kal 1€ i- bée nsén injud hikii mut li- nodi
authority.cl SM.c1-PST2-say that EXPL be.PST necessary for every person.cl INF.c5-leave
‘The authority stated that it would be necessary for everyone to leave’
A49¢’”) Ok ngomin abikal 1¢ ibée nsén 1€ hikii mut apddi

ngomin a- bi- kal 1¢  i- bée  nsép l¢  hikii mut a- authority.cl
SM.c1-PST2-say that EXPL be.PST necessary that every person.cl SM.c1-

naddi

leave.SBJV

‘The authority stated that it would be necessary that everyone leave’
Comment: In Basa’a, the same lexical item nsey means ‘necessary/necessity” and ‘important/importance’.
A50a) We prevented the teacher from yelling at the children.
Ok di bisonga malét 1ibam boongé

di bi- sopgd malét li- bam boonge

we PST2-prevent teacher.cl INF.c5-yell children.c2
‘We prevented the teacher from yelling the children.’

b) We allowed the guards to search the prisoners for weapons.

A50b”) Ok di binéhné batat ndzél lijén bot 6a mdg injun nga
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di bi- néh-né batat ndzél  li- jén  bot ba mdg  njulpngi

we PST2-open-APPL guards.c2 way.c7 INF.c5-search persons.c2 CONN prison.c4 for arms.c10
‘We allowed the guards to search the prisoners for weapons’.

A350b’’) Ok di binéhné batat ndzél 1¢ 6ajén bot 6a mdg injun nga

di bi- néh-né batat; nd3él 1&¢ proi ba-  jén bot ba mog we
PST2-open-APPL guards.c2 way.c7 that pro SM.c2-search.SBJV persons.c2 PREP prison.c4
injua nga

for arms.cl10
‘We allowed the guards to search the prisoners for weapons’. Lit: ‘We allowed that the guards should
search the prisoners for weapons’

c¢) We forced the guards to warn the prisoners about inspections.
A50c”) Ok di bihélés batat liboné bot 64 mdg injutt nwana

di bi- hé¢lés batat li- boné bot ba mdg injut pwana

we PST2-force guards.c2 INF.c5-warn persons.c2 CONN prison.c4 for/about inspection.c3

‘We forced the guards to warn the prisoners about inspections’.

A50c’’) Ok di bihélés batat 1¢ baboné bot ba mdg injut pwana

di bi- hélés batat; l¢  pro; ba-  boné bot ba mdg injut
we PST2-force guards.c2 that pro SM.c2-warn.SBJV persons.c2 CONN prison.c4 for/about
pwana

inspection.c3
‘We forced the guards to warn the prisoners about inspections’. Lit: ‘*We forced the guards that they
should warn the prisoners about inspections.’
d) We permitted that inspection take place early in the morning. (?? For some in English).
Ok di binébe 1¢ nwana 0 pulé tagbe (Pikekla)
di bi- nébé ¢ nwana u- pulé tagbe (Bikekla)
we PST2-accept/permit that inspections.c3 SM.c3-be early.SBJV pass/take place morning.c8
‘We permitted that inspection take place early in the morning’.
AS51a) We advised John to speak to a therapist.
Ok Ok di biti Johanes maépa (injutr) lipodds mut matibla
di bi- ti Johanesmaéfa  (injut) li pod- 6s mut matibla
we PST2-give John.cl advice.c6 for/about INF.c5-speak-APPL person.c1 healing.c6
‘We advised John to speak to a therapist/ a healer’.
b) We advised John that he (should) speak to a therapist.
A51b’) Ok di biti Johanes maéPa 1¢ 4 p6dds mut matibla
di bi- ti  JohdnesimaéPfa 1¢ proa-  pdd- Os mut matibla
we PST2-give John.cl advice.c6 that pro SM.c1-speak-APPL person.cl healing.c6
‘We advised John that he speak to a therapist/ a healer’.
A51b’’) Ok di biti J6hanes maépa 1¢ a ilama po6dos mut matibla
di bi- ti JohanesimaéPfa 1¢ proa- - lama pod- 6s  mut matibla
we PST2-give John.cl advice.c6 that pro SM.c1-PRS-should speak-APPL person.c1 healing.c6
‘We advised John that he should speak to a therapist/ a healer’.
Note: (51b) is marginal without should in English for some speakers.
A52a) Elsa stopped talking to Martin.
AS52a’) Ok Marija abigwas (1i) po6dos Johanes
Marija a- bi-  pwas (li-) p6d-0s Johanes  OR
Mary.cl SM.c1-PST2-stop (INF.c5-) talk-APPL John.cl
‘Mary stopped talking to John.’
AS52a’’) Ok Marija abitéé (1i) p6dds Johanes
Marija a- bi- téé (li-) p6d-0s Johanes
Mary.cl SM.c1-PST2-stop (INF.c5-) talk-APPL John.cl
‘Mary stopped talking to John.’
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Comments: Note that sentence (A52a’’) is ambiguous. It can either mean ‘Mary stopped talking to John’
or ‘Mary stopped in order to talk to John’. (See also A52¢c’” below).
b) Elsa stopped Martin from talking to Julia.
Ok Marija abinwesha Jakop lipodos Johanes
Marija a- bi- pwes-ha Jakop li- p6d-0s Johanes
Mary.cl SM.c1-PST2-stop-CAUS Jacob.cl INF.c5-talk-APPL John.cl
‘Mary stopped Jacob from talking to John.’
¢) Elsa stopped to talk to Martin.
A52c¢’) Ok Marija abigwas (1i) podos Johanes
Marija a- bi-  gwas (li-) p6d-0s Johanes  OR
Mary.cl SM.c1-PST2-stop (INF.c5-) talk-APPL John.c1
‘Mary stopped to talk to John.’
AS52¢’’) Ok Marija abitéé (1i) podos Johanes
Marija a- bi- téé (li-) p6d-0s Johanes
Mary.cl SM.c1-PST2-stop (INF.c5-) talk-APPL John.c1
‘Mary stopped to talk to John.’
Comments: Sentence (A52¢’”) is ambiguous. It can either mean ‘Mary stopped talking to John’ or ‘Mary
stopped in order to talk to John’.
Note: A52c is * for English speakers if it means ‘Elsa stopped talking to Martin’, but it also has an
acceptable meaning, ‘Elsa stopped in order to talk to Martin.” For A52c, we are interested in whether or
not the first reading is possible, but if the second reading is possible for the same translation, please let us
know.
d) Elsa continued talking to Bill.
A52d’) Ok Marija abiké ni Bisti ni po6dos Johanes
Marija a- bi- kéni  Pist ni  pod-6s Johanes
Mary.cl SM.c1-PST2-go CONN front INF talk-ASP John.cl
‘Mary continued talking to John.
e) Elsa continued to talk to Bill.
A52d’’) Ok Marija abiké ni Bist 1ip6dds Johanes (see comments below)
Marija a- bi- kéni Bisi li poéd-os Johanes
Mary.cl SM.c1-PST2-go CONN front INF.c5-talk-ASP John.cl
‘Mary moved forward in order to talk to John’.
Comments: As the translation shows, the reading obtained from (A52e) is such that ‘Mary was walking,
then moved forward to talk to John.
f) Elsa kept talking to Bill.
Ok Marija abiké ni Bist ni p6dds Johanes
Marija a- bi- kéni Pisi ni pod-6s  Johanes
Mary.cl SM.c1-PST2-go CONN front INF talk-APPL John.cl
‘Mary continued talking to John. (see also A52d’ above).
g) Elsa kept Bill happy.
AS52g’) *Marija abitééda Biklin maséé
Marija a- bi- tééda Bikin = maséé
Mary.c1-SM.c2-PST2-keep Bikiin.cl happiness.c6
AS52g’’) Ok Marija abitééda Bikin ni maséé
Marija a- bi-  tééda Bikin  ni  maséé
Mary.c1-SM.c2-PST2-keep/take care Bik{in.c1 with happiness.c6
‘Mary took care of Bik{in happily (here it is Mary who is happy).’
A52g’’”) Ok Marija abitééda Bikiin 1dngé
Marija a- bi-  tééda Bikin  1dngé
Mary.c1-SM.c2-PST2-keep/take.care Bikiin.c1 good.c7
‘Mary took care of Biki{in well.’
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Comments: The Basaa verb tééda handle/take care of/keep is incompatible with the nominal adjective
maséé ‘happy’ as shown in (A52g).

h) Elsa kept Bill to be happy (* for English speakers if Bill is the one who is happy)
Ok Marija abitééda Bik{in 1i64 maséé (sce translation and comments)

Marija a- bi-  tééda Bikin  li- 6a maséé
Mary.cl SM.c1-PST2-keep/take.care.of Biklin.cl INF.c5-be happiness.c6

‘Mary took care of Bikiin in order to be happy’
Comments: Here the maintenance of Bik{in being happy is not possible. ‘Mary took care of him because
she wanted to be happy’.

i) Elsa kept Bill eating vegetables. (?? For many English speakers where Bill is the eater)
* Marija abitééda Bikin lidz¢ bikaj

Marija a- bi-  tééda Bikin  li- dz¢ bikdj

Mary.cl SM.c1-PST2-keep/maintain Bikiin.c1 INF.c5-eat vegetables.c8

j) Elsa kept Bill from eating vegetables.
A52j”) * Marija abitééda Bikan lidz¢ bikaj

Marija a- bi-  tééda BikGin  li- dz¢ bikaj

Mary.cl SM.c1-PST2-keep/maintain Bikiin.cl INF.c5-eat vegetables.c8
A52j°’) Ok Marija abisonga Bikan lid3¢ bikaj

Marija a- bi- sopga Bikn li- dz¢ bikdj
Mary.cl SM.c1-PST2-prevent from Biklin INF.c5-eat vegetables.c8
‘Mary prevented Bik{n from eating vegetables’

Comments: The sentence in (A52j°’) is due to the replacement of the lexical verb téédd by  songa.
Is it possible to tell if Bikin is the direct object or if it is the structural subject of the /i-infinitive?
Note: The same verb in English, keep, allows both the maintenance of Bill eating vegetables, as in (A521)
and the prevention of him from doing so in (A52j). If your language uses different verbs for these
meanings, just make sure your translations are clear, and alert us to what the meaning differences are.
AS53a) It is known that melons are claimed to be fruits.
A53a’)Ok hala a/ i 1jifa 1€ minleém minkela 1i6a binuya
hala a-/ i n- ji- P& 1€ minleém mi- 1§- kel-a li- ba binuya
that.cl SM.c1/ EXPL PRS-know-PASS that bats.c4 SM.c4-PRS-say-PASS INF.c5-be animal.c8
‘It is known that the bats are claimed/said to be animals’
A53a’’)Ok hala a / i njipa 1¢ minleém minkela 1¢ mi yé binuya

hala a/ i n- ji- P4 1€ minleémimi- - kel-a 1¢ proj mi- yé
that.cl SM.c1-/ EXPL PRS-know-PASS that bats.c4 SM.c4-PRS-say-PASS that pro SM.c4-be
binuya

animals.c8

‘It is known that the bats are claimed/said to be animals’
Comments: Both (A53a’) and (A53°’) convey the same interpretation despite the fact that the latter
contains two overt lexical complementizers that introduce each an embedded declarative clause.
b) It is claimed that melons are fruits.
Ok hala a/ inkela 1€¢ mbondo iyé Bitatam
hala a/ i n- kel-a l¢ mbondo i- yé Pitatam
that.cl SM.c1-/ EXPL PRS-say-PASS that coconuts.c10 SM.c10-be fruits.c8
‘It is known that coconuts are claimed/said to be fruits’
¢) It is believed that the rain will continue to cause flooding.
A53c¢’) *hala a/ i ghonla 1€ ndp agakeé ni Bish ni lihilis malép

hala a- / i - hopgl- & l¢ ndp a- ga- keé ni Bisu ni
that.cl SM.c1-/ EXPL PRS-believe-PASS that rain.cl SM.c1-FUT2-go CONN front CONN
li- hal- ds malép

INF.c5-raise-CAUS waters.c6
‘It is believed that the rain will continue to cause flooding’
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A53°%) Ok bot banhon3l 1€ ndp agakeé ni Bish ni lihdalis malép

bot 6a- - hopdl 1l¢ ndp a- ga- keé ni Bisu ni
people.c2 SM.c2-PRS-believe that rain.cl SM.c1-FUT2-go CONN front CONN
li- hal- ds malép

INF.c5-raise-CAUS waters.c6
‘People believe that the rain will continue to cause flooding’
Comments: Epistemic verbs in Basa’a disallow expletive constructions such as (A53’) which is
unacceptable.
d) it is expected that the tourists will complain to the authorities.

AS53d’) *{ mbema 1¢ baken baga tf€lé ngdmin

i m- bem- a l¢ baken b6a- ga  tfEl- € ngdmin

EXPL PRS-expect-PASS that guests.c2 SM.c2-FUT2-complain-APPL authority.cl
A53d’’) Ok baken bagabema litf€lé ngdmin

baken ba- ga- bem- a li- tfel- € ngdmin
guests.c2 SM.c2-FUT2-expect-PASS INF.c5-complain-APPL authority.cl
“The guests will be expected to complain to the authority.’
A53d’”’) Ok bot baga 6ém baken lit[€le ngdmin
bot ba- ga  b&m baken - li- tfel- € pngdmin
people.c2 SM.c2-FUT2-expect guests.c2 INF.c5-complain-APPL authority.cl
‘People will expect the guests to complain to the authority.’
AS54a) That the inspection take place at 3 o’clock was required by the officers
Ok 1¢ pwana 0ban¢ 1 ngén aa (hala) abibeda ni ngdmin
¢ nwana u- ba-né i ngén aa (hala) a- bi-  bed-a
that insection.c3 SM.c3-be.SBJV-APPL LOC time.c7 three.c7 (that.c1) SM.c1-PST2-ask-PASS ni
pgdmin
CONN authority.c
‘That the inspection take place at 3 o’clock was required by the officers’
b) That precautions would be necessary was expected’
A54b’) Ok 1¢ matat mabée 1€ maba nséy (hala) abéé Héma
1¢ matat; ma- bHée 1¢ projma-  Bansén (hala) a- béé
that precautions.c6 SM.c6-be.PST that pro SM.c6-be necessary (that.cl1) SM.c1-be.PST
bém-a
expect-APPL
‘That precautions would be necessary was expected’
c¢) That the prisoner was guilty of more than one crime was never revealed (to the judge).
A54c¢’) Ok 1¢ mut mog abééne lihoha injutl ngandak mam (hala) abinéné 6é¢é tokél
1€ mut mog a- 6éé- ne  lihoha injut ngandak mam (hala) a-
that person.cl prison.c4 SM.c1-be.PST-APPL fault.c5 for many things.c6 that.cl SM.cl-
bi-  néné 6é¢  to kél
PST2-reveal/find NEG no day
“That the prisoner was guilty of many things was never revealed’
A54c¢’’) Ok 1¢ mut mog abééna iloo lihoha dzada (hala) abinéné 6é¢é tokél
l¢  mut mog a- béé-na iloo lihoha dzada (hala) a- bi-
that person.c1 prison.c4 SM.c1-have.PST-APPL more than fault.c5 one.c5 that.cl SM.c1-PST2-
néné bée tokél
reveal/find NEG no day
‘That the prisoner was guilty of many things was never revealed’
d) That the protestors would be arrested was never told to us.
Ok 1¢ mintfangbéné mibée 1€ migwéla (hala) abikela 6é¢ bés tokeél
1¢ mintfangbéng; mi- bHée  1¢ proi mi-  gwél-a (hala) a- bi- kel- a
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that bandits.c4 SM.c4-be.PST almost pro SM.c4-arrest-PASS (that.c1)SM.c1-PST2-say-PASS
b6é¢ bBés to kel
NEG us no day
‘That the bandits would be arrested was never told to us’.
¢) We were never told that the protestors would be arrested.
Ok i bikela 6¢é¢é b&s tokel 1¢ mintfangbéné mibée 1€ migwéla

i bi- kel-a b6é¢ bBéstokél 1é¢ mintfangbénéi mi- Hée 1¢ pro; mi-
EXPL PST2-say-PASS NEG us no day that bandits.c4 SM.c4-be.PST almost pro SM.c4
gwél-a

arrest-PASS

‘We were never told that the protestors would be arrested’
AS55a) John was forced to eat the soup.
A55a”) Ok Johanes abée nhélhak lid3é nsugi
Johanes a- bée nhélhak li- d3é nstgi
John.cl SM.c1-be.PST forced/obliged INF.c5-cat sauce.c3
We need a more complete gloss for ‘forced’
‘John was forced to eat the soup’.
A55a’’) Ok Johanes abée ghélhak 1€ 4d3¢ nsugi
Johanes; a- bée nhélhak l¢ pro; a- dzé nsugi
John.cl SM.c1-be.PST forced/obliged that pro SM.c1-eat.SBJV sauce.c3
‘John was forced to eat the soup’.
AS55a’"”) Ok Johanes abihélha lidzé nstgi
Johénes a- bi-  hél-ha li dzé nsugi
John.cl SM.c1-PST2-force-CAUS INF.c5-eat sauce.c3
‘John was forced to eat the soup’.
A55a’””) Ok Johanes abihélha 1¢ ad3é nsugi
Johanes; a- bi-  hél-ha l¢ pro; a- dzé nsugi
John.cl SM.c1-PST2-force-CAUS that pro SM.c1-eat.SBJV sauce.c3
‘John was forced to eat the soup’.
Comments: In (AS55a’) and (A55a’’), it is the case that no direct cause (e.g. his father) had forced John to
eat the soup. Maybe he was forced to eat under some compelling circumstances not involving other
people. Conversely, in (A55a’”") and (AS55°°""), there is a direct cause (e.g. his father) that forced him to
eat the soup. Note however that a direct causation can also be possible for (A55a”) and (A55a”).
b) John was advised to avoid the soup.
A55b’) Ok Johénes abitipa maépa likénglé nsugi
Johanes a- bi- ti- Pa  maéfa li- kénglé nsagi
John.cl SM.c1-PST2-give-PASS advice.c6 INF.c5-avoid sauce.c3
‘John was advised to avoid the soup’
A55b’”) Ok Johanes abitifa maépa 1€ akénglé nsugi
Johanes; a- bi- ti- Pa maéPfa & pro; a- kénglé nsugi
John.cl SM.c1-PST2-give-PASS advice.c6 that pro SM.cl-avoid.SBJV sauce.c3
‘John was advised that he should avoid the soup’
¢) John was expected to eat the soup.
Ok Johanes abibema lidz¢ nsugi
Johanes a- bi- bem- a li- dz¢ nsugi
John.cl SM.c1-PST2-expect-PASS INF.c5-eat sauce.c3
‘John was expected to eat soup.’
d) John was prevented from eating the soup.
Ok Johanes abisunha lidz€ nsagi
Johéanes a- bi- sunp-  ha  (pgim mut) li- dz¢ nsugi
John.cl SM.c1-PST2-prevent-CAUS some person.cl INF.c5-eat sauce.c3
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‘John was prevented from eating the sauce’/ ‘John prevented somebody from eating the soup’
Comments: As the translations clearly show, sentence (A55d) in Basaa has two different interpretations.
(1) Either ‘John was prevented from eating the soup’ or (ii) it is rather the case that ‘He prevented
somebody else from eating it.’

¢) John was understood to be angry about the new law.
AS55¢’) Ok Johanes abindga 1iba nunbak injutt mbén jondd
Johanes a- bi-noga li- 64 nanbak injut mbén  jondd
John.cl SM.c1-PST2-hear/understand INF.c5-be angry for law.c9 new.c9
‘John was understood/heard to be angry about the new law’
Is there a passive morpheme here?
A55¢’”) Ok Johanes abinoga 1€ abée nunbak injutt mbén jondd
Johanes; a- bi- noga l&- proja 6ée nunbak injutt mbén  jondd
John.cl SM.c1-PST2-hear/understand that pro SM.cl angry for law.c9 new.c9
‘John was understood/heard to be angry about the new law’
Comment: The verb n3g which becomes noga in its passive form means ‘hear’ or ‘understand’ in English.
In this case, each of the English verbs ‘hear’ and “‘understand’obtains its interpretation in the preceding
two sentences.
AS56a) John was seen eating the soup.
Ok Johanes abitééja (kikii) andzé nsugi

Johanes; a- bi-  téé-ja (kikii) pro; a- n- dz¢ nsugi

John.cl SM.c1-PST2-see-PASS (as) pro SM.c1-PROG-eat sauce.c3

‘John was seen eating the soup’./ Lit: John was seen as he was eating the soup’

b) John was seen to eat the soup. (*for English speakers)
OK Johéanes abitééja lidz¢ andz¢ nsugi (see translation and interpretation below)

Johanes a- bi-  téé-ja li dz¢ nsugi

John.cl SM.c1-PST2-see-PASS INF.c5-eat sauce.c3
Lit: ‘John was seen at the eating of the soup” OR Lit: John was seen inoder to eat the soup’
Comments: Sentence (AS56b) above has two readings. Literally, it means ‘John was seen at the eating of
the soup’ or ‘He was seen (people got in touch) in order to eat the soup’.

c¢) John was seen to have been eating the soup (? or ?? for many English speakers).
Not applicable and difficult to process in Basa’a.
Note: Some English speakers accept A56¢ on the interpretation that the missing agent has seen a ‘John
eating soup’ event, but most who accept (A56¢) do so on the assumption that John may not have been
eating soup, e.g., either John was actually pretending to eat soup or those who thought they saw him
eating soup did not in fact see what they thought they saw. If A56 is acceptable to you, please comment
on what it means.
AS57a) We were promised to leave (*for most English speakers).
AS57°)Ok ?di bibona linodi/manodi ?Passive form

di bi- b66n-a li-podi/ manodi
we PST2-promise-PASS INF.c5-leave departure
“*We were promised to leave’ Lit: ‘*We were promised the departure.’
AS57a’”) Ok 64 bibon 6&s kunde li-podi/manodi Ok Active form
b4 bi- b66n bés kunde li- nodi / manodi
INDF PST2-promise us permission.c7 INF.c5-leave/departure.c6
‘“*We were promised to to leave’./ Lit: ‘They (indefinite) promise us to leave/they promised us
permission to leave’
b) We were promised to be allowed to leave. (OK for most English speakers)
AS57b’) ?2di bi-bona libana kunde lipodi/manodi ?passive form
di bi- b6n-4 li-bana kunde li-podi/ manodi
we PST2-promise-PASS INF.c5-have permission.c7 INF.c5-leave/departure.c6
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AS57b’”) Ok 64 bibon 6&s libana kunde lipodi/manodi ok Active form

ba bi- b66n  b¢€s (li-band)  kunde li-podi/ manodi

INDF PST2-promise us INF.c5-have permission.c7 INF.c5-leave/departure.c6

‘We were promised to be allowed to leave’./ Lit: ‘They (indefinite) promise us to be allowed to
leave/they promised us permission to leave’

c¢) The boys were promised that we would be upset at the donkeys.

A57¢”) Ok b4 bibon dildga 1¢ di gkwéndha bist bi nd3dk Ok Active form
ba bi- b66n dildga 1¢ di bée ¢ di 9- kwénd-ha bisi bi
INDF PST2-promise boys.c12 that we be.PST almost we PRS-upset-CAUS front CONN elephant.c10
nd3dk
‘The boys were promised that we would be upset at the elephants.’
A57¢’’) 2dildga dibibon-a 1¢ di 6ée 1¢ di kwénd-ha bisu bi nd3dk ?Passive form

dildga  di- bi-  bon-a l¢ di bée 1¢ di kwénd-ha  bisu bi
boys.c12 SM.c12-PST2-promise-PASS that we be.PST almost we upset-CAUS front PREP nd35k
elephants.c10

“The boys were promised that we would be upset at elephants.’
AS58a) The servants were asked to make the children eat.
A58a’) Ok ba bibat bagwelel lidzés boongé Ok Active form
ba  bi- bat bagwelel li- dzé-s boongé
INDF PST2-ask servants.c5 INF.c5-eat-CAUS children.c2
‘The servants were asked to make the children eat.” Lit: ‘They (indefinite) asked the servants to make the
children eat.’
A58a’") ba bibat (bagwelel) 1€ (bagwelel) badzés boongé Ok Subjunctive form
ba  bi- bat (bagwelel) 1¢ (bagwelel) ba-dzé-s boongé
INDF PST2-ask servants.c2 that servants.c5 SM.c2-eat-CAUS.SBJV children.c2
‘The servants were asked to make the children eat.” Lit: ‘They (indefinite) asked the servants to make the
children eat.’
A58a’’”) Ok bagewlel babibeda lidzés boongé Ok Passive (see comments and translation below)
bagewlel b6a- bi- bed-a li- dzé-s boongé
servants.c2 SM.c2-PST2-ask/need-PASS INF.c5-eat-CAUS children.c2
‘The servants were needed to make the children eat/to feed the children.’
Comments: Note that in all the preceding examples (i.e. from A57a to A58a), the active form is accepted
by all speakers while the passive might sound a little odd, but not completely unacceptable. As for
(A58a””), the reading according to which ‘the servants were asked to make the children eat’ is not
possible as attested in the sample sentence in English. The only reading possible is that ‘there was a need
for servants for the feeding of the children.’
Now, consider the following sentences and their translations:
A58a’"”’) i bibéda bagwelel 1¢ badzés boongé
i bi-  b6éd-a; bagwelel 1€ proiba-  dzé-s boongé
EXPL PST2-ask/need-PASS servants.c2 that pro SM.c2-eat-CAUS.SBJV children.c2
Lit: ‘It was asked to the servants to make the children eat’
A58a’’’””) i bibéda bagwelel lidzé-s boongé
i bi- b6éd- a bagwelel li- dzé-s boongé
EXPL PST2-ask/need-PASS servants.c2 INF.c5-eat-CAUS children.c2
‘There was a need for servants for the feeding of the children’
Comments: Sentences (A58a’’), (A58a’’”) and (A58a’’’"") convey the same reading and (A58a’) and
(A58a’’”’) are the same.
b) The servants will be asked when to stop the water from boiling too long.
AS58b’) Ok ba gakal bagwelel (i) ngeda banlama siyil malép lipel nganday
ba ga- kil bagwelel; (i) npgeda projba- n- lama  siy-il malép
INDF FUT2-tell servants.c2 LOC time.c7 pro SM.c2-PRS-should bare-APPL water.c6
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li- pel npganday

INF.c5-boil too much

‘They will ask the servants when to stop the water from boiling too much.’

A58a’’)Ok i gakela bagwelel i ngeda bagalamna siyil malép lipel

i ga- kel-a bagweleli (i) ngeda proiba- ga- lam- na siy-il

EXPL FUT2-tell-PASS servants.c2 LOC time.c7 pro SM.c2-FUT2-should-APPL bare-APPL
malép  li- pel nganday
water.c6 INF.c5-boil too much

Lit: ‘It will be told to the servants when they should stop the water from boiling.’
AS58a’’") 7bagwelel gakela (i) ngeda bagalamna siyil malép lipel nganday ?Passive form
bagwelel; ba- ga- kel-a (i) mngeda proiba- ga- lam- na  siy- il
servants.c2 SM.c2-FUT2-tell-PASS LOC time.c7 pro SM.c2-FUT2-should-APPL bare-APPL
malép  li- pel pganday
water.c6 INF.c5-boil too much

‘The servants will be told when they will stop the water from boiling too much.’

c) The servants have been asked when they will warn the tourists about the weather.

A58c’) Ok ba nkal bagwelel (i) ngeda bagabehné bakeeké injui ngeda Ok Active form

b4  n- Kkal bagweleli (i) ngeda proiba- ga- beh- né  bakeeke injut
INDF PST1-tell servants.c2 LOC time.c7 pro SM.c2-FUT2-warn-APPL pilgrims.c2 for/about
ngeda
time/weather

‘They (indefinite) have told the servants when they will warn the pilgrims about the weather.’
AS58c”’) Ok i nkéla bagwelel (i) ngeda bagabehné bakeeké injui ngeda Ok Passive form

i n- kél-a bagweleli (i) ngeda proiba- ga- beh- né  bBakeeké  injun
EXPL PST1-tell-PASS servants.c2 LOC time.c7 pro SM.c2-FUT2-warn-APPL pilgrims.c2 for
pgeda
time/weather

‘It has been told to the servants when they will warn the pilgrims about the weather.’
A58c’’”) 2bagwelel bangkéla (i) ngeda bagabehné bakeeke injul ngeda ?Passive form

bagwelel ba- 1n-  kél-a (i) npgeda proba- ga- bHeh-né bakeeké injua
servants.c2 SM.c2-PST1-tell-PASS LOC time.c7 pro SM.c2-FUT2-warn-APPL pilgrims.c2 for
ngeda

time/weather

‘The servants have been told when they will warn the pilgrims about the weather.’
Comments:Recall that the passive form in (A58c’’”) might sound odd, but not unacceptable. But speakers
can only rarely use it in everyday speech.
A59a) The women will be told to make the children eat.
A59a’) *ba gakal bodaa lidzés boongé
ba g&- kal 66dad  li- dzé-s boongé
INDF FUT2-tell women.c2 INF.c5-eat-CAUS children.c2
A59a””) Ok b4 gakal 66daa 1¢ badzés boongé
ba ga- kal bodaa  1¢ pro;ba-  dzé-s boongé
INDF FUT2-tell women.c2 that pro SM.c2-eat-CAUS children.c2
‘They will tell the women that they should make the children eat.’
A359a’”’)? i gakela 66daa lid3zés boongé ? Passive form
i ga-  kel-a bodaa li- dzé-s boongé
EXPL FUT2-tell-PASS women.c2 INF.c5-eat-CAUS children.c2
Lit: ‘It will be told to the women to make the children eat.’
A59a’"’) Ok i gakela 60daa 1 6adzés boonge Ok Subjunctive Passive form
i ga-  kel-a bodaa; 1€ proiba-  dzé-s boongé
EXPL FUT2-tell-PASS women.c2 that pro SM.c2-eat-CAUS children.c2
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Lit: ‘It will be told to the women that they should make the children eat.’
AS59a’’")*bodaa baga kela lidzés boongé
bodaa ba- ga  kela li- dzé-s boongé
women.c2 SM.c2-FUT2-tell-PASS INF.c5-eat-CAUS children.c2
A59a’’) Ok bodaa baga kela 1¢ badzés boongé Ok Subjunctive Passive form
bodaa; ba- ga  kel-a 1€ proiba-  dzé-s boongé
women.c2 SM.c2-FUT2-tell-PASS that pro SM.c2-eat-CAUS.SBJV children.c2
‘The women will be told to make the children eat.” Lit: ‘The women will be told that they should make
the children eat.’
b) The women have been told when to stop the water from boiling too long.
A59a’) *bodaa bankéla i ngeda lisiyil malép lipel nganday
bodaa ba- - kéla i ngeda li- siy- 1l malép  li- pel
women.c2 SM.c2-PST1-tell-PASS LOC time.c7 INF.c5-bare-APPL water.c6 INF.c5-boil
nganday
too much
AS59a”’) *1 gkéla 66daa 1 ngeda lisiyil malép lipel nganday
i p- kél-a bodaa i pgeda li- siy-il malép  li- pel
EXPL PST1-tell-PASS women.c2 LOC time.c7 INF.c5-bare-APPL water.c6 INF.c5-boil
pganday
too much
c¢) The women are told when they should warn the tourists about the weather.
A59c¢’) Ok bodaa bankela i ngeda banlama 6&hné bakeeké injun ngeda
bodaa;  b6a- 9- kel-d i pgeda pro;ba- n- lam-na 6¢h- né
women.c2 SM.c2-PRS-tell-PASS LOC time.c7 pro SM.c2-PRS-should-APPL warn-APPL
bakeeke injul ngeda
pilgrims.c2 for/about time/weather
‘The women are told when they should warn the tourists about the weather’.
A60a) The boys were persuaded that Bill liked the book.
A60a”) Ok dildga dibinéébaha 1¢ Toné abé gwés kaat  See translations below
dildga di- bi- nééba-ha le Topé a- 6¢ gwés kaat
boys.12 SM.12-PST2-accept-CAUS that Tonécl SM.c1-be.PST like book.c7
“The boys were persuaded that Topé liked the book’/ The boys accepted together that Toné liked
the book’
Comments: In Basa’a, the verb néébé means ‘accept’ or ‘agree’. When combined with the
morpheme -hd, it expresses causation in the sense of (causing/making somebody (to)
accept/agree) or simultaneity in the sense of involving two entities at the same time as shown by
the translations above (see also A60b below).
b) The boys were persuaded to watch the ceremony.
Ok dildga di binéébaha libenge masag (See translations)
dildga di- bi- nééba-ha li- benge masag
boys.c12 SM.12-PST2-accept-CAUS INF.c5-watch dance.c6
‘The boys were persuaded to watch the dance.’/ ‘The boys accepted to watch the dance together.’
A61a) Those remarks suggest to me that he is worried about our proposal.
Ok lini libag lingunda mé 1¢ mudaa a njdd6¢ injud mambatga més
lini libag li- p- undd mélé mudaa a- n-  jodb- ¢ injua
this.c5 behaviour.c5 SM.c5-PRS-show me that woman.c1 SM.c1-PRS-worry-APPL about
mambatga més
questions.c6 our.c6
“This behavior shows that the woman is worried about our questions.’
b) It has been shown that the students are capable of doing this problem.
A61b’) Ok i nindba 1¢ baudu banla 65y hala

41



i n- und- 64 1¢ banda ba- n- la 65y hala

EXPL PST1-show-PASS that students.c2 SM.c2-PRS-can do that
‘It has been shown that the students can do/are capable of doing that.’
A61b’’) Ok i nnéné 1€ bBaudu banla 631 hala
i n- néné l¢ bBauda ba- n- la 63nhala
EXPL PST1-find that students.c2 SM.c2-PRS-can do that

‘It has been shown that the students can do/are capable of doing that.’

¢) It has been proved that the students are happier when the homework is interesting.

Ok 1 nundba 1¢ batdu bayé maséé iloo hiheya i ngeda biniigana biyé bilam

i n- und- b4 1¢ batdu ba-yé maséé i-1oo hiheya
EXPL PST1-show-PASS that students.c2 SM.c2-be.PRS happiness.c6 INF.c5-exceed limit.c19
i pgeda biniigand bi-  yé bilam

LOC time.c7 lessons.c8 SM.c8-be.PRS nice/interestin.c8

‘It has been shown that the students are extremely happy when the lessons are interesting.’
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